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All of Tile Efficiency,
in One Book.

This is the third book of the Uzaku series, continuing from
Mahjong Kessaku Nanikiru 300sen and Mahjong Joseki Nanikiru
301sen. The purpose of this book is to serve as more of a text-
book on tile efficiency rather than simply offering example
problems as my two previous books have done. This time, I'll
be explaining tile efficiency in more detail than I've ever had in
the past.

The content of this book is broad enough to be useful to both
beginners and seasoned players. Although it is focused on tile
efficiency, some parts of this book may be difficult for beginners
to understand. But if you get confused, don't fret, just carry on
reading! The point of this textbook isn’t to completely master
an idea before being able to move on to the next one. The best
way to learn is to acquire an understanding for a concept, and
then gradually build upon it.

I've provided an index with all of the example problems near
the end of this book to use as a practice aid. If you're unsure of
the answer to a problem, flip to the page where it is introduced
and read the explanation.

Thank you to Nemata, Yuusee, JangoroK, and many others
in the mahjong community for proofreading this book and
scrutinizing my problems. Please enjoy.

G Uzaku



How to Use This Book

Many example problems in this book do not include
contexual information such as turn number or seat wind.
This means answers may be relatively less constrained
than they often appear in practice.

If you prefer to have some context, assume that the game
is in turn 7 for l-shanten hands, turn 4 for 2-shanten
hands, and that you are the west player.

Rule Settings

This book uses the newest M-League rules with red fives,
kuitan, and atozuke present. Of course, the best move
usually changes depending on rules. But if there is an
red five in the problem, most of the time, you can think
of it as a regular dora.

Character

high school girl . IO\ Cat-turned-nekomata A\ A\ A lovely housewife,
stu ymg mahjong | NG/ after living to 30 A"\ wellFkriown aroun
years old \ | the neighborhood
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Chapter 1

Blocks

We'll start with learning how to think of potential
melds as “blocks” with five-block theory.
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Five-Block Theory (1)

In mahjong, you need to make four three-tile melds and one
two-tile pair to win.

+ + -+ +

The pair of the hand is also known as the head. Every winning
mahjong hand has four melds and one head, except kokushi
musou and chiitoitsu.
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These four melds and one head make five blocks in total. Of
course, the head is only two tiles, but there’'s no way to know
what tiles will become your head until you've won or you're in
tenpai, so we count them as one block, just like we do melds.

= N @ e (o000 %y T AERIE
i%ﬁ @ %998888@ B | 8 |44
The above hand is in a shabo wait for |§] and . If we draw ,
becomes our head. If we draw , becomes our head. As

you can see, with this hand, it's impossible to know which block
Is our head until we've won.

In this sense, a winning hand will always have five blocks; no
more, no less. Apart from the head, each block will always be

either a run (8[%[ee), a set (Hilii[iii) or a quad (=&|%|%|%]).




When your has six blocks or more, we call this a block surplus.

-

2 [eeee |88 [eee| T § [T § [T5E
| |oo|88 gg‘% B85 E|388
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First, split up the potential melds and potential heads.

RN eeo|  (TE[11), [THE
FEs +l§e 88 +‘§§|ﬁ’+lﬁﬁ|ﬁﬁj+ Fi

813!
18131

kiR

We've split the hand into six blocks, so it has a block surplus. To
get this hand to the desired four melds and one head, we must
choose one of these blocks to cut. The best course of action is
to find the strongest blocks and keep them, cutting the weakest
block instead. This is the essence of five-block theory. Following
this principle will get you to tenpai more often.

The correct answer is to cut . It's okay if you don't know why
yet. It'll be second nature to you soon. Now, let's get to learning!

two pairs.

Shabo: a shanpon wait; waiting on a tile to complete a set for one of

Run (jp: shuntsu): a meld consisting of three sequential number tiles.

Set (jp: koutsu): a meld consisting of three of the same tile. Sets can

either be open (called) or closed (not called).

I

R

Quad (jp: kantsu): a meld consisting of four of the same tile. Quads

can either be open (called) or closed (not called).

Point

The “five blocks” of five-block theory are the four melds and one head of your hand.

Aim for five blocks in your hand; no more, no less. If your hand has six blocks or

more, it has a block surplus.

AW o0
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Five-Block Theory (2)

W A G |9 00|00 |%(%g|eee | | § | § [F1E|. B
LlE|e| %lec|es|88|88 000 1 |7 7|7 7l5E|EEE

Let’s split this hand up into blocks.

o[ %), [@ e [ee]es) , [Ceoleasloee| , [T |7 | T |, [FHEE
£|& | | %leelos/ |88 88£I+ i EHBH’+HHH§§§

We've ended up with five blocks, perfect for making four melds
and a head. None of these blocks are especially weak, so we
want to preserve all of them.

*%esjes). This

)

The correct answer is to cut the extra @ from

move fixes the block into one meld, |2[%|ee.

Cutting and going for tanyao isn't that bad, but you risk
drawing , which is four tiles of backfire. On the other hand, if
you keep , drawing |§8] means you get to complete the meld
s|#S. Cutting tiles with the least backfire is an excellent way to
Increase your tenpai rate.

Tenpai: the state of your hand when one more tile is needed to win.

Shanten: the lowest possible draws it takes to get your hand to
tenpai. A hand that is 1-shanten (iishanten) is one draw away from
tenpai. A hand that is 2-shanten (ryanshanten) is two draws away.
Usually, shanten isn't counted above 3-shanten (sanshanten).

Joint (jp: taatsu): a two-tile shape that is one draw away from form-
ing a meld. These include the kanchan, penchan, and ryanmen joints.
Sometimes they are called “potential melds”.



oo || X [ | 51314 -
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cutting . Try splitting the hand into blocks first.

It seems a bit complicated, but if you think of the two . as a
potent|al head, you'll see that we can split the four . into one
%%/ and one run |

ARNRENEE
% i HI+HH T

A E Mk

Since there are six blocks, we have a block surplus. Correctly
splitting our blocks lets us see |j3| as a potential head. Notice
that cutting it increases our shanten. If we cut , we won't be
tenpai next turn no matter what tile we draw.

To lower our shanten, we need to drop one of our ryanmen

.. . 2 K I , .
joints: either [2]%] |£|2] or [l It'd be a waste to cut |%] so our

>

best option is to cut £l2 which shares acceptance of |£| with

%%l When two shapes interfere by accepting the same tile, it's

called a double acceptance.

Some players might feel iffy about dropping a ryanmen joint, so
think of it this way: all winning hands can only have five blocks,
and sometimes, we have no choice but to drop strong joints.

W\

Point

It's easier to see which tile to cut once you properly group your hand into blocks.

A 00 X
nswers “ E
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swoat  Five-Block Theory (3)
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Try splitting this hand up into blocks yourself. How would you
do it?

HlXx| X Sag|®ag
SlEE 8% 88 es e8!

Here we have the manzu grouped into one block and the pinzu
grouped into two, so we've already got three blocks secured.
We're going for five blocks, so if we make two more from the
souzu, we'll be good to go.

P (R F[TEET], G5l

Splitting the souzu up like |4 |3 iliifsti+{shls) or |i [5sls's+siilsalsh
works nicely. Since || is an excess tile in both groupings, the
correct answer is to cut .

You might've been able to solve this problem intuitively, but
the trick here is to recognize the ryanmen joint [jifii| from the

mess in the souzu.

Keep in mind that sometimes, there is no single “"best” way to
group your tiles into blocks.

Excess tiles: surplus tiles in your hand; tiles that do not contribute to
your tile acceptance.



|25 |ee|ee [eeg|eee|ees| § [1-5|8,.5|38E] 2
4|1 |00 8888|550 | o |5 #|3's|1tn|pnn|EEE

Cutting @ will put you in tenpai with a kanchan wait on , but
if you need more points or a better wait, passing on the tenpai
is also a valid move.

In addition to l 2E

, we can also group the manzu like

5‘%‘

N EN

=

&

Z|+

EIES

_a-_a‘-

#|&) Since there's a potential head in the manzu, we can

drop the ; pair and go for a tanyao sanshoku 2-dora hand, a
mangan even if we call.

The shapes below make a meld even when you cut one tile from
them, but you can also split and treat them like two blocks.
These are helpful to keep when your blocks are weak.

=2 || AR . | X | M|

ﬁiii'ii"‘ii

e0|ee|oe |ty . (00]|00| (00|

on|88)/88(28|  |o0|28| (83|28

E(28(8.80-E). (% (58], (F.8]2

R R e
ad
Point

Sometimes there is no single "best” way to group your tiles into blocks.

Count how many more blocks you need from blocks you can see in your hand.

Answers A: . .

013
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st Five-Block Theory (4)

Prob. A [West Player, Turn 2] | | [si [ [ [ ]

@kk@é@@@

AR At

=-—N—-—]
[Se=]==]
[==]==2]

g0

This problem includes the player's wind and the turn number.
The line of tiles indicates the dead wall. |§§ is turned over, which
means the dora is .

Cutting [§§) doesn’t backfire when drawing |sf| and gives us the
most tile acceptance. It might seem like the best move, but
there’s another option. Take a look at the hand closely and
count the blocks.

PRSI ES oe|es|ee i B §:! i |
eI gh[@e@ o8 gg T8 8|83 +‘§§§ Mh‘ﬂtm’"

Even when considering pinzu as a single block, we have six
blocks, a block surplus. And what's more, most of them are
strong ryanmen joints. Considering how early it is in the game,
dropping the | pair is our best bet.

If we cut |§§] from this hand, we'd have to decide between joints
when it progresses just one shanten.

= || 3 N|eeles i A

X ) Y 18l.E
%% |8 |4 | ||| 22 |5 5|5 1|20 [geg| Pk |2k

This is what our hand would look like if we cut E and drew .
Pretty difficult, huh?




The hand actually still has six blocks, so the best move would be
to drop one of them.

w| |l Xx | |00|ee

oo 88| § [11|.1. [P
:@:ﬁiia@m%asggﬁﬁﬂﬂ%ﬂmﬂk

g 0

On the other hand, this is what we'd end up with if we cut
from Problem A and drew . From here, cut the second .
Then if we draw , we've got a chance at 6-7-8 sanshoku and
tanpin.

It's easy to make mistakes with hands like Problem A and make
wasteful cuts like . Properly splitting your hands into blocks
helps you avoid missing good opportunities for high-scoring
hands. If we're lucky and draw |gf| early, our hand becomes very
powerful, both in value and speed. Since we already have two
dora, it'll be a mangan with tanyao and sanshoku even if we call.

Hopefully, this helps you understand just how critical five-block
theory is to mahjong in general.

Dead wall: a 7x2 wall of tiles that usually remains at the end of a <)
game. After a player kans, it's replenished with the last tile of the wall.

/

Point

Realizing that your hand has a block surplus opens up other possible moves.

015
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Six Blocks (1)

Up until now, we've only discussed five-block theory. You might
have also heard about a six-block method that directs you to
maintain six blocks. Which method of play between the two is
better is often subject to debate.

(TSI
=[=[E X [X [ e [ee(eee] T | T [T 15, 5EHE
&|d|d|E|a| e %|ee|e2| 1 |5 8|ne|ris|am

Here's a problem that'll stir up a discussion.

i 813!

(x| [@e | [eelese| (T |TE[EE
| | S %[22+ g |z 2|3 8|8% s

&

i
gk

This is what the hand looks like, split into blocks. We treat the
five-tile shape made by the souzu like two blocks here, so the
hand has six blocks in total. According to five-block theory, we
need to drop the weakest block, but where should we start?
Dropping the sanmenchan in the souzu is out of the question.
The |8]%| joint accepts the dora. [£|£|&] is a strong shape that
accepts — and . And if you're sharp, you may have realized
that we've got a shot at 1-2-3 or 2-3-4 sanshoku, so cutting &
is also difficult. Also, g is our potential head.

T

So there's possible yaku on every front of this hand, but we have
to cut something.



Cutting () conforms to the five-block method, and cutting
conforms to the six-block method.

The advantage of the five-block method is that you usually won't
end up with excess tiles. If you only need to consider your own
hand, like in singleplayer mahjong, the five-block method is
unequivocally the better way to play.

The advantage of the six-block method is that you can put off
choosing between joints to drop. Because of this, it's some-
times cheapened as an indecisive way to play. But the six-block
method is not without its benefits. For example, if an opponent
kans a tile that you need to finish a joint, it's relatively easy to
recover with six blocks. And depending on the situation, you'll
be able to make use of the sakigiri effect.

Both the five-block and six-block method have benefits and
drawbacks that are tied to each other. It's not productive to say
that one is definitively better than the other. We can use both
according to what our hand needs.

Sakigiri effect: discarding certain tiles earlier, making it easier

to win off of a discard because your discard pile is harder to read.

For example, cutting [fi] from [ to declare riichi can tip off
opponents that your waits are next to that tile (this is also called

sobaten). If you cut earlier, your opponents will be less likely to M
expect the i . wait.

Point

The six-block method lets you put off deciding your final hand'’s shape.

Use both the five-block method and six-block method according to need.

Answers A:—

017
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The six-block method helps maximize acceptance, but it has a
big drawback: you'll always need to revert back to five blocks.

Prob. A BN ENNEN
=|[=[x|x|Xx]|@ | |ecolecs| § | § |88|3,.8|EEE
£ 2| E L L e %5052 1 |7 8|55 et s

This hand is the same as the last one. I've listed tile acceptances
below. Note that cutting |&| gives us the broadest acceptance.

x| [—][eo][&][~ ®e BE|[.E , :

Cut| & &ENZEZ @ s ;?% g3 ||EEE(9 kinds, 35 tiles
(=] [&) A @0 [eoe)] 18l(E , ,

Cut|&||& g %D oell22 % 11)(353]9 kinds, 31 tiles

Cutting [£ . delays choosing betweenjomts to drop, which is the

=

six-block method. Cutting the |Z|%| ryanmen joint, on the other
hand, conforms to the five-block method.

Let's compare what we end up with if we draw , foreach choice.

Dra

X [=|=|F|X 0 |S52]see i it e

raw
== ® AN :
Cut| ) (& | [ |5 | @ | %)es)oes) B |1 #]18|88[sH] |}

With the six-block method, we must revert to five blocks and
drop one of our joints. Going for 2-3-4 sanshoku by dropping
2|4 is the typical move here. No matter which tile you cut first,
the other one in the joint becomes an excess tile, costing us at

least one turn.

018
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=Z|lx|@|e |eee|leee| § | § [5F|8,.B|58E] 2
ZE| e %|oe|%e! & (1 8|55|ats|ppn|EEE

-|2)[%)@)[ee)4 kinds, 16 tiles

ad)

Draw
RX|X|©|e mmg i HHHHHH g

mEﬂgﬁﬁﬁ&%%% § 8|88 |8 anE) |EEE

With the five-block method, what we do next is obvious. After
we cut|%|and finish dropping the joint, we won't be left with ex-
cess tiles. This type of 1-shanten is called a perfect 1-shanten.

Klx|Xx|@®|e |eeejeee| § | § |§T|E,E|EEE| E
| d|E| e %[5 & |z 1|z 8 |ats|panEiE
-[|[E]z]@2e& 6 kinds, 20 tiles
2-shanten 1-shanten
Cut (six—block) 9 kinds, 35 tiles 4 kinds, 16 tiles
Cut (five—block) 9 kinds, 31 tiles 6 kinds, 20 tiles

Notice that even though cutting || in Problem A (at 2-shanten)
increased our tile acceptance by four tiles, we lost four tiles of
acceptance at 1-shanten.

Do you see how the timing of cutting surplus joints in your hand
affects tile acceptance? We'll discuss when it is optimal to revert
from six blocks to five blocks in a future chapter.

/

\\

Point

Maintaining six blocks could lower your tile acceptance later in the round.

Answers A:—

019
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Lesson Six Blocks (3)

B

=== (x| o e |eoleee| 7 | T (155050
2EE|E &l %5052 5 |58l as|atslemm

The same problem, once again. In the last lesson, I talked about
E and || like they're your only two choices, but there's actually
a third option: .

Even if we drop the [ pair from this hand, we'd still be able to
go for 2-3-4 or even 1-2-3 sanshoku, as shown below.

=|=|lw|x|x|®|e |e®| § | § |58, 5|888| E
£l |E£|E L e %|ee| I | 8|1 e zzn|EEE

As far as tile acceptance goes, cutting [&| pales in comparison to
or . But doing so doesn’t increase our shanten, and it opens
up the possibility of winning with riichi tanpin sanshoku in the
best-case scenario. Once we've thought about the hand'’s final
shape, [z doesn't seem like a bad choice. If you need to make a
comeback during the final round, it's your best bet.

Technically, dropping the pair to go for 2-3-4 sanshoku
conforms to five-block theory. Sanshoku requires three melds,
leaving two blocks free: one meld and one head. Think of three
blocks as being occupied by sanshoku.

=|=|w @ |e (e® g| 8|88
ii:@"‘®%oo+[ﬁuﬁﬁ+ +

Hopefully, this makes it easier to see why the third option works.



Splitting our hand into blocks lets us see another path toward
an even higher-scoring hand. It's the exact same line of thinking
we used in Five-Block Theory (4). The majority of hands with six
blocks have a similar “third option,” just like this one.

At this point, I imagine you might be asking, “So what exactly /s
the correct answer to Problem A?”

You could try putting this problem into a mahjong simula-
tor, but what it considers the optimal move varies depending
on the round number. Either way, different simulators give
different answers. So for this problem, I consider there to be no
solution. But for those of you who want something definitive,
the simulator tends to lean toward cutting || for most turns. I
believe this is because this choice makes it relatively easier to go
for pinfu or sanshoku, and the final hand ends up scoring more
points.

Mahjong websites, simulators and other helpful resources assisting
in the production of this book:

» Ara’s Hitori Mahjong Lab
http://mahjong.ara.black/

» [ started studying mahjong
http://epsilon69399.blog20.fc2.com/

» Mahjong Math Research Society <\J
https://note.mu/mahjong_math

Point

Consider your hand’s final shape before making a choice.

Most hands with six blocks have a “third option”.

A: BRESERwer o4
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Lesson Six Blocks (4)

In some situations, it's good to make a sixth block when you
already have five.

Prob. A
=[=]w|2]Xx]|Xx |0 BB (BE|.E |B~E
SEFEETE IR | IR e

Cutting E puts you in perfect 1-shanten, but you may end up
with a low-scoring riichi-only hand like below.

pAEabAedEal i L IHIBEH
If you're in first with a significant lead, or nobody else is ahead
by much, this isn't anything to worry about. But say, for instance,
the game is in the south round already, and you're behind in
points. The best possible move would be to cut , which en-
sures that you hand will at least have pinfu. Then, if you're lucky
and draw |g| Or |ee| tO stick to the floating , you can drop [}
and go for tanpin sanshoku.

When you're not hard-pressed for points, you don’t have to cut
, but there is still merit to keeping it. The return is big, and you
can avoid winning riichi-only with a shot at a high-scoring hand.



AR
A}
A
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®

%ol 881881 Js's/sa il

In this case, it's better to leave [%| alone, even more so than in
Problem A.

Cutting |%| fixes our only ryanmen. Then, if we draw , we can
declare riichi with %] for a riichi tanpin hand. If we draw a |e| or
o2 for the [%] before the [l we'll drop [li[k] So keep your hand
balanced, and don't cut [iia| immediately just because it's a bad

joint.

The key idea here is to avoid unnecessarily cutting floating
tiles that could make sanshoku, even when you already have
five blocks. You can also do this with dora tiles, which is a bit
more straightforward. If rushing your hand would lead you to a
low-scoring win or leave you with bad waits, look toward mak-
ing a sixth block.

Hiraba (/it. level field): this term was once used to refer to games
where tsumibou aren’t being loaded, but now it's used in the sense
that the point distribution is relatively even. Different players will tell

you different criteria for what constitutes a hiraba but it's simpler to \

remember that if you're discarding differently from normal, the game

is not hiraba. @
Point

Sometimes you should take lower tile acceptance to leave strong floating tiles.

R A: (%) B[ o028
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it  1-Shanten Peak Theory

At this point, you've learned that taking broader tile acceptance
in the short run can lower your tile acceptance later on. You've
also learned that sometimes it's better to take lower tile accep-
tance in order to keep strong floating tiles.

So we know that we should pay attention and optimize for the
shape our hand will take later on. But that raises the question:
what point of the progression of our hand should we optimize
for?

As your hand progresses and its shanten decrease, the num-
ber of effective tiles also decreases. This means that you have
the lowest tile acceptance at any one point in your hand'’s pro-
gression during tenpai. However, this narrow acceptance is fine
since you don't have to draw the effective tiles; you can win off
of any opponent’s discard.

Usually, the most difficult progression your hand makes is going
from 1-shanten to tenpai. You've probably been there yourself,
stuck waiting to draw a tile to put you in tenpai in-game.

This is why you should aim to have a broad tile acceptance at
1-shanten. To do this, keep in mind:

1. Look ahead so as to not leave excess tiles in your hand
during 1-shanten.

2. Usually, you should drop a joint instead of maintaining six
blocks at 2-shanten.

3. Don't worry too much about advancing shanten early on.

Play to optimize for the shape your hand will take at 1-shanten.
That's pretty much the gist of 1-shanten peak theory.



..6..
&
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This hand is at 3-shanten with six blocks. Don't worry about
maximizing tile acceptance to advance shanten this early on.
Cut || and go for chanta sanshoku. We will cut the hand down
to five blocks after completing one meld at 2-shanten.

BB |5 |T

This hand is at 2-shanten with six blocks. This time, we should
cut the hand down to five blocks. Pon is faster than chii, so drop
the &} joint. Pushing for chanta and cutting || here maintains
six blocks, which means that if you complete another meld, you'll
have an excess tile at 1-shanten.

o

1-shanten is pronounced iishanten. 2, 3, and 4-shanten are S\
pronounced ryanshanten, sanshanten, and suushanten respectively.

/

Point

Play to optimize the shape your hand will take at 1-shanten.
Look ahead so as to not leave excess tiles in your hand during 1-shanten.
Usually, you should drop a joint instead of maintaining six blocks at 2-shanten.

Don't worry too much about advancing shanten early on.

A:[Z] B:[Y 025
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Chapter 2
Heads

Back in the day, the head of the hand was seen as
unimportant, something that could be made at any time.
Now, we know that heads are central to strategy. We play
differently depending on how many heads we have.

In this chapter, we’ll talk all about heads.
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Two-Head Theory (1)
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This hand is at 1-shanten, accepting , , , and . is our

potential head and | is being kept as a safe tile.

P4 ES N |eoleo(ee| § | § (£ |BAd iad
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Here we've drawn . If we cut , we would be in perfect
1-shanten. Because this shape allows both |j|and 4 to be seen
as potential heads, we would gain a tile acceptance of two
tiles and two |p4] tiles, a useful four additional tiles of acceptance.

When you have two pairs in your hand and both are potential
heads, the hand is said to have “two heads". Recognizing and
maintaining these two heads is the basis of “two-head theory”.

Drawing another tile of either of the two heads forms a closed
set, making the other pair our head. If the remaining head be-
comes a closed set, you'll have to make another pair to be your
head.

Two heads in a hand is powerful. Aim for a good shape
1-shanten by maintaining these two heads and you will get to
tenpai faster.

To assure that we have the safe tile ] to cut when we get to
tenpai, we can preemptively cut [gg here. Cutting an effective tile
early like this is called sakigiri. This can misdirect opponents
into thinking that |gg) was a floating tile in our hand, lowering
their guard on waits surrounding that tile.



Tiles outside of other tiles of the same suit cut early before
tenpai are considered safer, so to sakigiri [p5) makes it easier to
win off of a |iii| discard. This is a big benefit compared to losing
four tiles of acceptance.

But because this particular hand could also wait with tanyao and
not just pinfu, we should keep the . If we keep [#t] as a safe tile,
we can't take a tenpai with tanyao through || and . It's not
worth losing four tiles of acceptance over. We should keep .
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In cases like this where tanpin sanshoku is possible, it's worth
disregarding the additional four tiles of acceptance.

When opponents have already cut several tiles of |;| and ,
leaving [i| in our hand becomes less beneficial, especially after
midgame since it's less likely for one of the heads to become a
closed set.

The actual effectiveness of sakigiri in practice has been reevaluated
in recent times. After knowledge of five-block theory and two-head
theory became widespread, fewer people built hands with six blocks.
As a result, fewer people were doing sakigiri. This had an effect on
how people generally read discard piles. These days, there are players

who try to take advantage of this fact and sakigiri offensively. w !
In the future, we may see the effectiveness of sakigiri fluctuate
depending on the dominant style of mahjong.
[ ]
Point

Decide to keep the safe tile or to take the perfect 1-shanten depending on
whether the four tiles of acceptance are worth it or not.
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Two-Head Theory (2)
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Let's split this hand into blocks first.
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We end up with six blocks, so there is a block surplus. We should
drop one of them, according to five-block theory.

It all boils down to either the kanchan in the pinzu, or one of the
pairs in the souzu. Which one is the best to drop?

We could look at the tile acceptance of each of our choices. It
turns out that no matter which one we go with, we end up with
a total acceptance of 12 tiles.

Cut g ’% ‘% % Lﬁ 4 kinds, 12 tiles
Cut :Z ’% % % ﬁ 4 kinds, 12 tiles
Cut % '% % e@@ 3 kinds, 12 tiles
Cut ﬁ '% % 990 3 kinds, 12 tiles

030



There is a reasonable argument to be made for dropping a pair
since drawing [%|leaves us with a ryanmen wait and a pinfu hand.
The kanchan takes four tiles, same as the combined acceptance
of the two pairs |§| and , so dropping a pair doesn’t change
our tile acceptance. But the correct answer here is still .

The key point here lies in ryanmen upgrades. The only draw that
could upgrade the kanchan [8[se| into a ryanmen are the four
tiles of , but keeping the two heads leaves us open to draw

either |y or , eight tiles of ryanmen upgrades.

Notice that cutting |e| first keeps the acceptance of effective tiles
for |se] Open in our hand. If we drew an effective tile in the souzu
at this point, we would just cut [sg], but if we drew [ before that,

it would give us the ryanmen |ee|cs)

Therefore, it is possible to get into a pinfu tenpai even while
leaving both pairs in our hand.

Cutting |e| is definitively the best in all metrics: tenpai rate, win
rate, and good wait tenpai rate.

Good wait tenpai rate: measures the probability of getting to tenpai A
with a good wait. The opposite of this is “bad wait tenpai rate”.

Point

Compare the number of tiles that put you in tenpai to the number of ryanmen upgrades.

Answers A:
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Lesson Two-Head ThEOI‘y (3)

|| 5% |E[8[oo]ss |8

Let’s switch out the pairs in the last chapter’s problem with some
others and see how that affects our decisions.

Table of Ryanmen Upgrades for 2 Heads

22 None 1kind, 4 tiles 2 kinds, 8 tiles
HE 1kind, 4 tiles 2 kinds, 8 tiles 3 kinds, 12 tiles
Bili 2 kinds, 8 tles 3 kinds, 12 tles 4 kinds, 16 ties

Does not apply to cases where heads are close together and effective tiles overlap.

—=[=]= ® [e® ooo|J J [§ [ [EEE|[BEE
2% |ZE 5|2 |oolss| 08 |c| | 2E

Since there is no |j pair in the table above, we look in the @
column. The bottom left cell indicates that these two heads have
8 tiles in 2 kinds of ryanmen upgrades. It's better to leave the 2

heads. Cut .

2D WWYD: a 2D WWYD (What Would You Discard?) is a problem
that does not include a discard pile to consider. Problems that include
the discard piles of all players are called 3D WWYDs.
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The upper-left cell of the table indicates that neither of the pairs
in this hand has any ryanmen upgrades.

It's easier to go for pinfu if we drop a pair here. We could also
drop the kanchan since the |&| and [iii| shanpon is powerful and
easy to win off of after riichi'ing. It's hard to provide a definitive
answer for 2D WWYDs like these, so you should account for
context for this situation during real games and play accordingly.

The broad consensus for this problem, without any provided
context, is ( if you're going for junchan). This is because it's
more likely that you draw — for tenpai, and it's somewhat
better to have a guaranteed good wait than the possibility of
getting pinfu.

If you don’t want to memorize the table, just remember that it's
better to leave the pairs alone as long as you have one pair that
is good for getting ryanmen upgrades. Also, keep in mind that
you should account for yaku like sanshoku and tanyao when
making these decisions. Cases where it's better to keep the kan-
chan are rare. Most of the time, you're better off maintaining
the two heads. As they say, “two heads are better than one”!

I

A

Point

Leave the pairs alone if there’s one that's good for getting a ryanmen upgrade.

Between a kanchan and two heads, you should usually keep the two heads.
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Three Heads is Worst (1)

In two-head theory, we learned that having two heads in our
hand is powerful. But what happens when we draw another pair
and end up with three heads? This time, our hand gets weaker.

Here we'll learn a new technique called undoing a pair. To undo
a pair, simply cut one tile from the pair and use the other tile in
your hand, leaving it open for ryanmen upgrades. When your
hand has three heads, undoing a pair can net an additional two
tiles of acceptance.

R U IHHEE e
Cut g Undoing the pair - ’% gg g Hﬁg 4 kinds, 12 tiles
Cut § Undoing the pair---’é ‘g gg ﬂﬁﬁ 4 kinds, 12 tiles
Cut E Fixing the pair - g gg g FEEE 4 kinds, 10 tiles
Cut gg Fixing the pair - % 2 gg g 4 kinds, 10 tiles




As you can see, when your hand has three heads, undoing a pair
gives you the most tile acceptance.

The two-tile difference in acceptance stems from the doubling
of the shanpon shape. If you're confused, look at it in terms
of how many tiles could backfire on you depending on what
you cut. If you cut , your backfire is the four tiles of . But
if you cut , your backfire is the remaining two tiles of . The
difference in backfire between these two choices is two tiles. As
for which pair you should undo, choose the pair which is most
likely to get a ryanmen upgrade.

The correct answer is . Undoing the|£| pair gives us a joint that
could upgrade to a ryanmen through two kinds of tiles, || and
. It leaves us with two heads, which is powerful, as we learned
in Two-Head Theory (1). If either of them becomes a closed set,
the other one becomes the head of the hand.

The idea that “three heads is worst” shows up in Utahime Obaka
Miiko by Katayama Masayuki (Takeshobo).

Since we know that two heads in a hand is powerful, three heads
in a hand is weak, and that with four heads, we could go for
chiitoitsu, we can logically conclude that “three heads is worst.”
We'll discuss hands with four heads in later lessons.

Famous mahjong gag comic artist. Notable works include s\
Gyuwanburaa Jikochuushinha, Super Jigan and No Mark Bakuhaitou.

Katayama Masayuki
l

Point

Increase your tile acceptance by two tiles by “undoing” pairs.
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2o Three Heads is Worst (2)
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The , , and [t pairs give this hand three heads.

Undoing the , , and pairs gives us the broadest tile
acceptance, but we'd be left with only one head after calling
pon and advancing to 1-shanten. There would also be excess
tiles in our hand, which narrows our acceptance.

For example, if we cut |£| and pon , we end up with the hand
below. @ turns into an idle tile, not contributing to the hand.

| 25 [Geg ] ig (eelee

HEEE Rk aeatd
This is why you shouldn’t undo a pair in every case where you
have three heads. The example above is a called hand. We
should expect to pon a pair and maintain two heads when we

get to 1-shanten. This means keeping three heads in the hand
at 2-shanten.

[=oa]=aa =
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So the correct answer is to fix a pair, cutting either , , or .
Of these three options, [i| leaves us with the best final shape
and keeps the red acceptance.

In practice, situations where undoing a pair is the best move
are quite limited. You can't use this technique if the hand isn't
closed. And even if it is, sometimes undoing a pair at 2-shanten
results in weak shapes at 1-shanten and narrows tile acceptance.



Special attention needs to be paid to such decisions in these
situations. You should prioritize playing for the highest tile
acceptance at 1-shanten (as in 1-shanten peak theory) and also
maintaining 2 heads at 1-shanten (as in two-head theory).

The marginal benefit of undoing a pair is usually only two
tiles of additional acceptance, so it's often superceded by
some other benefit. Especially in the early-game, two tiles of
acceptance isn't worth breaking a shape that could become
stronger later on.

As the game progresses, it becomes harder and harder to
reach tenpai. You might want to maximize tile acceptance as
much as you can in the moment, but it's much more useful to
pay attention to the turn number and balance your present
acceptance with your future acceptance.

So, in the end, should we do away with “three heads is worst"?
Not quite. Understanding when and where you should take ad-
vantage of that two-tile benefit is nonetheless a component of
higher-level play.

Idle tile (jp: asobihai): tile that does not contribute to your hand.
Often synonymous with “excess tile”, but this book distinguishes
between the two terms.

Open hand: hand that uses calls (especially pon) to progress.

Closed hand: hand that remains closed.

Point

You should maintain three heads in called hands so you can call pon.

Undoing a pair is usually only useful in closed hands.

]
Answers A:
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Lesson Four Heads or More
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We've just learned that having three heads in a hand is weak.
Now,aa what about when you draw another pair and end up with
four heads? With four or more heads in a hand, you can start
looking to build a chiitoitsu hand, so it's not exactly bad. Pay
attention to the number of heads in your hand to avoid missing
good chiitoitsu opportunities.

[=-=]
=-=]
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s A
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This hand is in 2-shanten both as a meld hand and a chiitoitsu
hand.

Be careful not to ruin the chiitoitsu opportunity by cutting |@| or
. Keep it simple and cut .
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Preserve chiitoitsu by cutting % This choice also gives us the
broadest tile acceptance, with 25 tiles in 8 kinds.

Ignoring chiitoitsu and turning the pinzu into a ryankan by
cutting |@| isn't too bad, but it only nets us an acceptance of 16
tiles in 4 kinds. Compared to , this is a nine-tile loss.



Chiitoitsu literally means “seven pairs” in Chinese—as expected,
a winning hand consists of seven pairs. A hand with six pairs is
in tenpai. Five pairs is 1-shanten. And four pairs is 2-shanten for
a chiitoitsu hand no matter how messy your hand is. Any hand
is at most 6-shanten from chiitoitsu, so there is no such thing as
7-shanten for a chiitoitsu hand.

= | = || | A& A ee| § |i.0 |58 il
AR S SEES ool I 18 |I|Ma

Preserving chiitoitsu and cutting |&| gives us the broadest tile
acceptance, but in this case it's probably better to go for tanyao
and 3-4-5 sanshoku with .

Winning hands cannot have iipeikou and chiitoitsu counted as
yaku at the same time. Compare the 2 han of chiitoitsu and
the 4 han of tanyao sanshoku iipeikou. Like in Problem B, by
cutting , we lose nine tiles of acceptance, but this is more than
made up for by the points yield.

lipeikou and chiitoitsu cannot be counted at the same time.
EEEHEHECTHHRRN

This hand could be viewed as either a chiitoitsu hand or ryanpeikou,

but it cannot be counted as both at the same time. The hand will <\ |
be scored according to the view that gives it the higher amount of
points.
Point

Pay attention to the number of heads and don’t miss chiitoitsu opportunities.

Four pairs is 2-shanten for a chiitoitsu hand no matter how messy the hand is.
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Lesson One Head -Fixing Heads Close to the Edge-
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This hand is in 2-shanten. Besides , we have no other potential
heads, so cut @ to fix |pq] @s this hand'’s head.

If we leave [Ja%iH] alone and draw [ilf, we'd complete a meld, but

we'd also have to make another head. iif] gives us the broadest
tile acceptance anyway.

Cases like this where you have to fix a head close to the edge
come up very frequently in-game, so remember this technique!
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Let's flip the [k|uifiit| over in Problem A and consider our choices
for some other similar tile configurations.

The best move will often vary depending on the round turn.
Assume the following examples occur relatively earlier in the
game when you aren't in a rush.



» il - Drawing || would give us a complex ryanmen joint,
so it's even better to cut |iff here than in Problem A. Fix the head

and cut [ii|

b iz -+ The adjunct tile is on the inner side of the shape.
Typically, we wouldn’t cut i3 here because drawing || makes a
ryanmen. Choose whether to cut , , or [jij based on how far
into the game it is.

» B3] - Drawing [iii] gives us the aryanmen (g5 so [y is
more valuable to us here than in Problem A. But fixing the head
is still marginally better in this case. Cut .

» [l - Leave this shape alone. We could go for tanyao
and maybe even pinfu on top of that if the pinzu in our hand

develop nicely. Cut |®| or .

As you can see from the above examples, when you only have
one head in your hand, it's best to fix that head most of the
time. We could also justify this with two-head theory—since
the ideal developing hand has two heads, you should work
toward that ideal and fix your only head. This isn't true in all
cases, though, because sometimes we want to go for yaku like
tanyao or we need more good blocks in the hand. Just keep in
mind that it's always an option.

/

\\

Point

When you only have one head, in most cases, you should fix that head.

Answers A: .
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Lesson No Head (1)

=[&|3x|Xx |0 |ee(ee|88|eee| § | § [ E |B~g|EEE
R N e

Both || and || are floating tiles. Which one of them should we
cut?

We've already got two completed melds and two ryanmen
joints, which is four blocks for our melds. So that means we
need a head, but there aren’t any pairs present in the hand.

This specific type of hand is called a meld-complete headless
2-shanten. This happens when we already have enough blocks
for melds but still don't have any blocks that could be the hand'’s
head.

Consider the |@]ee]ss| IN the pinzu. You may be tempted to cut ,
but that'd be a mistake when you don’t have a head. If we draw
, we'd end up with |§]%]es|les, @ shape that allows us to make
a head by subsequently drawing either |g| or . The correct

answer is to keep |@] and cut the floating tile .

After cutting , we should cut |g| after drawing any of , , ,
or [

This opens the hand up to as broad a tile acceptance as possible
for making a head.




Prob. B

[West Player, Turn 1]
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Starting hands this good call for a bit of careful consideration
before we make our first move. Like in Problem A, it's a meld-
complete headless 2-shanten.

Seeing as |§| or [&] wouldn't backfire on us, some of you would
probably choose to cut . But with pinfu within reach, our first
tile to discard should be . Drawing just one more tile of || or
the guest wind [#t| makes a head for pinfu. In contrast, we'd need
to draw two more of the yakuhai |¥|to get any yaku there.

In conclusion, there are some shapes and tiles that are worth
keeping in your hand when you don’t have a head. In mahjong,
we like to use the term headless to describe such hands.

Floating tile: tiles that aren’t near any other tiles, like in a kanchan, <)
ryanmen, or a pair.

I

Point

When you have a meld-complete headless 2-shanten hand, open up the hand to
as broad a tile acceptance for making a head as possible.

When you have a pinfu hand without a head, keep guest winds over yakuhai.

A:[E] B:[¥] 043
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& yields the broadest tile acceptance, but we should cut |§§] so
that we can go for pinfu in case we draw — first.

We cut |§§ first instead of , just in case we draw , which
connects the pinzu into a powerful shape. Then cutting || gives
us a very broad 1-shanten.

w[ &[] @ [e [ee[ee|es| ey
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Prob. B
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The shape [li% ki makes is called a penkanchan. Sometimes
it's seen as a weak shape, but it's very powerful when your hand
has no head. Drawing any of — or — upgrades it into one
meld and one head.

The correct answer is to drop the kanchan [gf|&. You could go
for tanyao and cut &g first but if you want to be safe, start from

the . Note that cutting |g§] or & gives us the maximum tile
acceptance anyway, at 46 tiles.
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yields the broadest tile acceptance and is the correct answer.
5§ ensures a good wait tenpai but compared to , we lose nine
tiles of acceptance.

B

Prob. D
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This is the same as Problem C, but with the pinzu shape shifted
to the edge. In this case, it's better to cut .

In terms of tile acceptance, cutting || gives us 25 tiles in 8 kinds,
and [f| gives us 20 tiles in 6 kinds. Even though we lose five tiles
of acceptance, it's worth it since the final shape of the hand has
a higher expected value. %] is still a valid move if you want to
take the initial riichi or if it's late-game and you just want to get
to tenpai, but you shouldn't justify cutting just because of the
lipeikou yaku. In this hand, there's no way to get both pinfu and
lipeikou, so we should prioritize pinfu.

Expected value: the average value attained over many simulated
realizations of a certain move. In economists’ terms, the “anticipated \/
earnings” you can expect after putting in some amount of money. b
With mahjong, you could think of this as your “anticipated points”.

Point

Sometimes weak shapes become powerful if your hand has no head.

a:f] &S5 c:® o:f@
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soodil Fix the Joint or Fix the Head? (1)

046

AR ER
§ |g 8|pme|EEd

A pinfu hand in 1-shanten. |g| yields the broadest tile accep-
tance, but if we were to cut |®| and % and make |g| our head,
we'd have a ryanmen-ryanmen 1-shanten.

Let's compare cutting |e| (fixing the meld) with cutting |%| (fixing
the head).

@|.[x|~[x]=l@]e [eefee] § | § [BEE[.E |38
Cutlg|'| % ﬁ§@® %loe|28| 1 [z 1|zE|ioE e
- ool 28] E8) (2 1% 31 8 Kinds, 28 tiles

e |l.[x|~|x|=|©|@|ee|ee] & | § [B8E[,E, [B~E
Cut %’-% AEd e § |7 #|38|50s e

E4 kinds, 16 tiles

Cutting |e| nets the larger acceptance, but if a ryanmen joint
completes first, we end up with a tanki wait. To get a good wait
tenpai, we'd have to draw either , , , or g (4 kinds, 12
tiles) to make a head. Compare this to the 16 tiles in 4 kinds that
complete a ryanmen joint. We have a 57% chance (16/28 tiles)
of ending up with a tanki wait.

Cutting %) loses us 12 tiles of acceptance (a 43% decrease), but
all of our acceptance stems from the ryanmen-ryanmen, so we
will always end up with a ryanmen tenpai.



Let's put all of this information into an organized table.

Tile Acceptance

Ryanmen Tenpai

Good Wait Tenpai Rate

Fix Meld (Cut|8))

8 kinds, 28 tiles

4 kinds, 12 tiles

43%

Fix Head (Cut)

4 kinds, 16 tiles

4 kinds, 16 tiles

100%

As far as tenpai rate goes, fixing the meld wins out easily, with
12 more tiles of acceptance than fixing the head. But fixing the
head yields a broader acceptance toward a ryanmen tenpai,
ensuring that you end up with a good wait in the end.

With other factors to take into consideration, it's hard to
definitively say what the better option is.

Ultimately, it boils down to circumstance. If you are willing to
risk ending up with a bad wait if it means you'll get to tenpai
easier, fix the meld. If you want to make sure you'll have a good
wait tenpai at the cost of making it harder for your hand to get
to tenpai, fix the head.

Ryanmen-ryanmen: used to describe a hand with two ryanmen
joints, especially at 1-shanten. After you complete one ryanmen, the <\
other becomes your wait at tenpai.

Point

Fix the meld to increase tenpai rate, at the cost of risking a bad wait tenpai.

Fix the head to ensure a good wait tenpai, at the cost of narrower acceptance.

.[@
Answers A:
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weodil Fix the Joint or Fix the Head? (2)

Dora and yaku in the hand can affect which path you should
take when deciding on whether to fix the joint or head from
shapes like |©[8]8]%|

Obviously, you'd want to preserve the dora in the shape if it was
one of ~ so we'll take a look at some other cases.

® Cases Where You Should Fix the Head

x|~ ®(@|e |e®|®e| | [F§[HEE| I |BE
£)2%|9|e) o] % s/ 1|11 ]mm|Hi|ms
Fix the head when it ensures tanyao for the hand. With both
tanyao and pinfu, this hand will score much higher, which off-
sets the narrowness in acceptance.

x|~ ®|e@e [ee[ee| § | § (1832 [BAE
& ﬁ§|@® ® | “%|eo|28| 7 (g |tsE|iii e

Fix the head when the ryanmen joints contain aka or dora. If you
fix the meld in this hand and draw |gs| afterward, you'd have to

@@

cut |&).

Dora

Y[ xl=l@ee [ee[ee| t | (1,1EH[.L| [e®
& i@@ @ | %|88|82| & BHHMM%%] o0

Fix the head when double dora (@) or other tiles that raise your
hand'’s value can complete one of your ryanmen joints.

slide: to_shift a meld by one tile; i.e. cutting [§] from [§]%]eq after
drawing .

Live tile: a tile kind that has not been discarded by any player yet.



® Cases Where You Should Fix the Meld

X P fosesy @ @ ® % i ‘ i ’
ARG

Fix the meld when you have a closed set. You can make a head
easily by cutting a tile from the closed set.

Dora
X% © @@ [*o|88] ¥ | & [1,85] 2 ‘ee
L% |£|9 ele|%e8 gg g |3 |8'e|5ms)ERl| |ee

Fix the meld when you can use the dora by sliding the meld. If
you cut @ in this hand and then draw the dora , you could
®le |ee

choose to slide the meld into |@|%Jes] Or you could keep the
©|8|%|es| NObetan shape.

Sometimes, you can fix the meld when the dora is a live yakuhai.
Then, if you draw the dora and end up with the bad wait, you
can take the tanki wait on the dora.

Don’t decide whether to fix the head or meld based pure-
ly on the shape of the hand. Consider other factors, too, like
the turn number and opponents’ discards. Through mahjong
simulator statistics, we know that tile acceptance becomes
more and more important as the game progresses. So, fix-
ing the head is more beneficial early on, and fixing the meld
becomes better laterinthe game.Ican’t say precisely at what turn
number it becomes better, because different mahjong simu-
lators report different numbers. Just remember that fixing the
head is effective in the early-game, and fixing the _y/

meld is effective from the mid-game onwards.
Point

When you have dora, try to keep it. When you don't, make sure your hand can accept it.

Fixing the head is better early on, and fixing the meld is better later in the game.

049



Lesson

=i Fix the Joint or Fix the Head? (3)

Acceptances that result in nobetan and aryanmen waits will be
distinguished from that of normal ryanmen waits with square
brackets. Important information is highlighted in these tables.

w.ﬁ-i@@@@%gge&eﬁ BRIl B |B~B|Bagt| BEE
] [Le) igidid 131314
Case A REAFSENPTICAEEIE I RER i
Tile Acceptance Good Wait Tenpai |Good Wait Tenpai Rate
Fix Meld (Cut[}d) | 8kinds, 28tiles | 4 kinds, 12 tiles 43%
Fix Head (Cut ) 4 kinds, 16 tiles 4 kinds, 16 tiles 100%

This shape has no extended or complex shapes. In terms of good wait tenpai rate, fixing

the head is better. If you fix the meld and one of the ryanmen joints completes, you end
up with a tanki wait.

—|= aeoeoee%gg B IBE|.E |Bag|Bag|BEE
Case B NS FREAPPERTIETIE ERIERAEHESIES
Tile Acceptance Good Wait Tenpai |Good Wait Tenpai Rate
Fix Meld (Cut[kl) | 11kinds, 37tles | (& kinds 18 tiles

49%
[8 kinds, 26 tiles] [70%]

100%

Fix Head (Cut ) 5 kinds, 19 tiles

Tile acceptance toward a good wait tenpai for both options are about the same. If you
fix the meld and the souzu ryanmen completes first, you end up with a nobetan wait.

5 kinds, 19 tiles

ﬂﬁiee@o%ggmgﬁﬁﬁwwwﬁ
@ GO0 i§i3i i3idi1
Case C RENFAFACLIIETIE i mIRRAt I ES e ki
Tile Acceptance Good Wait Tenpai |Good Wait Tenpai Rate
q ] : : 6 kinds, 18 tiles 55%
Fix Meld (Cut[gf) | 10kinds 33tiles | & kinds 18 fes [79%]
Fix Head (Cutlglf) | 4kinds, 15tiles | 4 kinds, 15 tiles 100%

Tile acceptance toward a good wait tenpai for fixing the meld is better. If you fix the
050 meld and the souzu ryanmen completes first, you end up with a nobetan wait.



—~[=[=]ee]ee[eeg|®es B |BE|.E, |Bnd|Bng|BEE
| &% |88 28] 88 ggﬁﬁﬁﬁ%ﬁﬁmwﬁgﬁ

Tile Acceptance Good Wait Tenpai |Good Wait Tenpai Rate
- - 5

Fix Meld (Cut[k) | 10kinds, 33 tiles | (§ kNG 38 fies 590

Fix Head (Cutlglg)) | 4kinds, 15tiles | 4 kinds, 15 tiles 100%

Tile acceptance toward a good wait tenpai for fixing the meld is better. If you fix the

meld and the souzu ryanmen completes first, you can choose an aryanmen wait or a
nobetan wait.

Mﬁa@@%%ggmﬂﬁﬁ i |Bad|Bnd|BEE

e gig 1§13

SN ([ [ (888888 | 88 |ooo|8 8| ¥ i |IvE|I) i
Tile Acceptance Good Wait Tenpai |Good Wait Tenpai Rate

Fix Meld (Cut[Kd) | 9 kinds, 29tiles | 5 Kinds: 1 thes, 33

Fix Head (Cutlglt]) | 4kinds, 15tiles | 4 kinds, 15 tiles 100%

Tile acceptance toward a good wait tenpai for both options are about the same. If you
fix the meld and the souzu ryanmen completes first, you end up with a nobetan wait.

—|=|=|ee @o@e@%gg B |38|.2 |B~d|Bng|BEE

i3i814 1§31

Case F ‘£|i|ﬁ 8888888283 |8 B| B B |zaz| M| A 3is
Tile Acceptance Good Wait Tenpai |Good Wait Tenpai Rate

Fix Meld (Cut () | 9 kinds, 29 tiles | (3 Kinds 14 files o)

Fix Head (Cut) 4 kinds, 15 tiles 4 kinds, 15 tiles 100%

Tile acceptance toward a good wait tenpai for both options are about the same. If you
fix the meld and the souzu ryanmen completes first, you end up with a aryanmen wait.

—[=[=[%s[%e ooo| § (1] I [Bi[Bl[EEE
&%) Eoelos| 08 881221 b b nus Rcklichl o

Tile Acceptance Good Wait Tenpai

Fix Meld (Cut k) | 8 kinds, 25 tiles | 4 kinds, 10 tiles
Fix Head (Cut) 4 kinds, 15 tiles 4 kinds, 15 tiles 100%

Tile acceptance toward a good wait tenpai for fixing the head is better. If you fix the
meld and the souzu ryanmen completes first, you end up with a shanpon wait.

Good Wait Tenpai Rate

40%
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seaddl Fix the Joint or Fix the Head? (4)

Cases B to E from the last lesson concern hands with shapes
that contain four or more sequential tiles in an extended shape.

I recommend fixing the meld when you have extended shapes.
However, some cases require a bit more nuance.

The good shape tenpai rate when you fix the meld in a hand
without any complex or extended shapes (as in Case A) is 43%,
but with an extended shape, this figure jumps up to around
50%. The difference arises because of the possibility of ending
up with a nobetan or aryanmen wait.

If the pinzu end up becoming your tenpai wait (in Cases C
to E) the ryanmen wait would only end up with a maximum
acceptance of seven since you're using a tile you're waiting on
in your hand. That's only a one-tile difference from the six-tile
acceptance of an aryanmen or a nobetan wait—all the more
reason to fix the meld when your hand has an extended shape.

Case B requires some clarification. This specific hand is tricky.

alsalssl

—|=|=|ce|es|se e B IREI|_E_(BAg|BAT|EE
€)% | % |oolen|88 o8| 0 l5 1| £ 11 A it

Because of how strong the —— wait is, it's not too bad to
fix the head here. But on the other hand, even if you fix the
meld, draw the —— first, and end up with a tanki wait,
you could still recover a good wait by drawing a pinzu to
connect to the existing shape.

It's not a hard and fast rule to fix the meld when you have an
extended shape. In actual games, you should also consider the
opponent’s discards.



Case F and Case G both concern hands with complex (but not
extended) shapes.

—|=[=|2e]|ee|%ep|%e B |BE| 2, Bad|Bnl|BEE
| % | %28 (58| o5 en B8 |i's bt o [b| il iin
—[=]=eec|ee| 8888 [ee2| & [T |.L. [BAE[BE[EEE
EEDmE L RN

Fixing the head is slightly better in these cases because of the
possibility of iipeikou. This is doubly true in the early-game.

In Case G, fixing the meld results in an acceptance of 10 tiles in
4 kinds toward a good wait tenpai, with a good wait tenpai rate
of only 40%; the lowest of all cases we looked at. What's worse,
if the souzu ryanmen completes first, you'll be stuck with a
shanpon (or a tanki) wait. So save for the endgame, you should
always fix the head for this case.

Overall, it's usually best in all cases to fix the head in the
early-game to go for pinfu. As the game progresses and tile
acceptance becomes more important, the optimal choice shifts
toward fixing the meld instead.

Something else to consider is whether or not the wait for your
nobetan or aryanmen would be easy to draw in the case that
you have an extended shape in your hand. Always be ready to

adapt to your opponents’ discards. ;

T,

Point

Generally, you should fix the meld when you have an extended shape, but you
also need to consider and adapt your opponents’ discards.
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ol Fix the Joint or Fix the Head? (5)

Up to now, I've been cutting the inner tile |t first when fixing the

head from the [m&{¥i[E shape.

Some of you are probably wondering if it's okay to cut from the
outside with . Sure enough, you could make the argument
that cutting [t first opens you up to a good upgrade through

drawing .

w A | S |ee|ee|ee (oo Gy § |FT| I |BaR|Rag|BEE
4|4 |4 |onloe|88(28|22(1 5|15 |EEE v pop|BEE

Say we want to go for tanyao and iipeikou by fixing the head
here. Let's cut from the outside with . After that, we draw .

w| K| [eclee|ee|ee|®g| § |FE|EEE_E_[B~E|3~E
& |& |4 oo|on| 8282828z 3| 1 8 |5es|2EE (e | g

Now we should switch it up and fix the meld by cutting .
Even though we risk the tanki wait, tanyao is secured, and pin-
fu and iipeikou are possible. Don't forget that the game has
progressed since the first state of this problem. As turn number
increases, we should expand our tile acceptance and focus on
getting to tenpai.



On the one hand, cutting like this leaves room for a potential
upgrade. But on the other, you leave a dangerous tile in your
hand.

Generally speaking, inner tiles are more likely to be won off
of than outer tiles, so we consider them more dangerous. In
sk the [ is covered by a two-tile [%i| kabe, making it much
safer than the inner tile [tii] [@]8]*%Jee

Keeping potential upgrades and cutting dangerous tiles early
are both important. It's a matter of whether you're willing to cut
and keep i3 in the hand only for the chance of drawing . In
the first place, if you're hoping to draw , you could consider
preemptively fixing the meld instead.

I think the drawbacks of cutting [t first outweigh the benefits
and recommend starting from .

In any other case where there's no clear yaku benefit after cut-
ting from the outside (like the guaranteed tanyao in Problem
A), you should always be cutting from the inside-out.

Kabe (/it. wall): a kind of tile that is less available or complete-

ly unavailable in the wall (i.e. in your hand or in the discard pile).

It's less likely an opponent has a joint with that kind of tile. For

example, the (Y] in [m%[5H] is a two-tile kabe, which makes it less

likely thgt one of your opponents has a — w'ait.'If an opponent \/
kans @ it's impossible to deal into a ryanmen wait with | (but other -
waits like shanpons are still possible).

Point

You should generally cut from the inside-out when fixing a head.

]
Answers A:
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Chapter 3

Joints

Joints are the lifeblood of the unfinished hand —just one tile
away from becoming a completed meld.

In this chapter, we'll discuss the value of different joints.




- ;2550“ Ryanmen >Kanchan >Penchan

Ak

This hand has a block surplus, so let's drop one of them. Three

of them are incomplete: the |£[&| ryanmen, the |®|%] kanchan,
and the &| ! | penchan.

The order of the basic joints from strongest to weakest is
ryanmen > kanchan > penchan. Therefore, the correct answer is
to drop the penchan, our weakest joint.

You are probably already familiar with this concept as it's
the first piece of theory many players learn, but allow me to
elaborate a bit more here.

Ryanmens are strong because they accept two kinds of tiles.
Penchans and kanchans only accept one kind of tile, so they're
considered weak. Kanchans are still better than penchans
because it's easier for them to upgrade into a ryanmen.

A |®]%| kanchan can upgrade into a [%[es| 'yanmen in one turn,
after drawing .

For a |&|i| penchan to upgrade into a ryanmen, it must first

become a |} |t} kanchan, and only then through drawing %] will

they upgrade into a [ji[ii ryanmen. We call this a “two-stage

upgrade” or a "two-step upgrade”.
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Upgrade from a kanchan: oo

Upgrade from a penchan: f?%

AL

T [T]EE| - [FE|EE
) (]eE)  (BEE

A penchan cannot become a ryanmen without first becoming a
kanchan. You can think of them as the penchan as exactly one
tier below the kanchan.

iy
by
e

If you're having trouble with this problem, you're looking too

deep into it. Just remember that the penchan is one tier below

the kanchan and cut |G|

Cutting from the pinzu is self-sabotage. Picture what you'd end
up with if you cut pinzu, but then drew .

Now that you understand that penchans are a tier below kanchans,

let's look at this from an opponent’s point of view. If you see that

someone has dropped a kanchan, you might assume that their

hand contains no penchans. But there are some instances in which a

player may keep a penchan, say, if they needed dora or yaku. It's N
more accurate to say that it's /ikely their hand has no penchan.

I

Point

The basic joints from strongest to weakest are ryanmen > kanchan > penchan.

The penchan is one tier below the kanchan.

SHEER [T



awiaoh . Comparing Kanchans (1)

The quality of kanchans may vary depending on where they're
positioned.

== ~<|e [ee| § | § |1.5/508 /500 |.L. [0
4|4 |44 %|on| § |7 1|2ts son|oeg|2eE 222 g

)
@%@

We must choose between the two kanchans |£[Z]and [%

A
[and

upgrades to a ryanmen with .

.@A

upgrades to a ryanmen with two kinds, |e| and .

.
%@

Leave the kanchan with more ryanmen upgrades. Cut .

=== =]
= &R
=
=1

L9
L9

[==]=-]

Sap|®eg
88

We must choose between |®|%| and |} [}1]

Both kanchans have the same amount of ryanmen upgrades.

Tanyao is possible if we drop [®|%|. Cut .

If you chose , you've made a mistake. Aim for a broader
1-shanten by cutting the hand down to five blocks while it's still
2-shanten.
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We must choose between |g¢|§| and

The hand has yakuhai, so we don't need to consider tanyao.
Think about the tenpai wait. The kan— wait is closer to the
outside than the kan-£f] wait and is easier to win off of. Cut [H].

When you're playing with red fives, pay attention to whether or
not your hand will be able to take them in, and make sure that
you're not needlessly losing red acceptance. Both Problems B
and C can still accept || if you cut the correct tiles. Problem B
has the [g§] pair, and Problem C has the %] pair.

You don't need to maximize acceptance for aka tiles all the time.
After all, there's only one of them for each suit. When your hand is
already high-scoring on its own, you don't need to consider them.
But if your hand could use a little more value, cut accordingly so that
you won't have to cut an aka tile when it does come.

I

b

Point

When choosing between kanchans, leave the one with more ryanmen upgrades.

When your kanchans have the same amount of ryanmen upgrades and tanyao
doesn’t seem possible, keep the outer kanchans.

a:lz] &(@ o[l
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il Comparing Kanchans (2)

@ [©©|%s|®e0| T, 1| T01|.L. | L. [ EEE
4| @ |oe|88|28 11 ran|Fik 220 na| b

/@
=

We must choose between |Z|#| and |8[es. The positions of
the kanchans are both the same, so we'll compare the two by
looking at what happens when we drop a kanchan and then
draw a tile that connects to one of our pairs.

Drop

[an)
&9

Drop |8 Jes

oraw (%) | (E[2[E[SLTRRE RN | EEE R R

DraW ﬁlil%lzﬁ a;??fls"slsxxl §|E |ﬁ|§§§ [ilglililii?f?flxﬁsl§§§ | | E| |ns|

The hands we get if we draw || are about the same no matter
which kanchan we drop. If we dropped |8les| (top right) and
draw (%] afterward, the hand gets into perfect 1-shanten with a
double acceptance on , which is a bit unfavorable.

=|<D

If we dropped [£|%| and draw |sg| (bottom left), the hand we get is
especially bad. It can’t upgrade into perfect 1-shanten so there’s
a high chance we end up with a bad wait tenpai.

Both choices seem to have its drawbacks depending on which
tile we draw afterward. But between the shape overlap that
presents itself after two upgrades and the shape overlap that
presents itself after only one, we obviously prefer the former.
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With this considered, we can say dropping |@|es is better. The

@ [ee®

simulator backs this up. Dropping |e|es| €xcels in all statistics,
including expected value, tenpai rate, and win rate.

Some of you might find it challenging to go through this thought
process in your head. My advice is to look for suji tiles. ee| and
in the pinzu shape |8 [eelst|st] from Problem A are suji. The
manzu, on the other hand, have no such suji tiles. Try to reduce
suji in your hand as much as possible.

Prob. B
—~|=[=]=|w|[K]|ee|/ee]ee §| B (BEE|B~E
R A HEG

We must choose between [§[§l] and [Ia[&] [5¥] does not backfire on

us if we cut |§f] . }|. This is because | a and [} . § are suji.

With this general principle of reducing suji, we can see at a
glance that |§§] is the best answer.

W\

Point

Try to reduce suji in your hand as much as possible.

A:(8] Bl 063
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Lesson Comparing Penchans

All penchans have the same amount of tile acceptance and
upgrades, but they can still differ depending on the position of
other joints in the hand or dora. More often than not, there will
be a good reason to keep one penchan over the other.

Prob. A SEN=RNNN
EIEZ B 1 | [alsal [RIR[ Y

This hand has a block surplus. We should drop one of the
penchans, but there are two of them to choose from. Take a
moment to think about which one you would drop and why.

The correct answer is to drop [§8[s5] There are three main reasons
why this is the best move.

1. As the hand progresses there's a chance that we'll end up
cutting . In that case, it will be somewhat easier to win if our
final wait is i1 because of the suji trap.

2. We can make a [k ryankan if we keep [f] and draw [

3. One tile of [&g] is already being used as the dora indicator,
making it harder to draw that tile to stick to our §§|& penchan.

e )

We're slightly more likely to end up with [&iiilii| than B[S, so

keeping the [§Jii| penchan increases our chances of winning.




The third reason might not seem like such a big deal, espe-
cially because this problem doesn't include any discard piles.
But in real life, you'll see many terminal tiles like |®| and |1 cut
early in the game, which makes this something to consider. It's
even more important if you want to build a pon-called hand or
chiitoitsu.

This is the same line of thinking that goes into deciding
between floating tiles. Say, for instance, it's the early game and
you have to cut one of the two floating tiles |g]| and . If neither
of them contribute to potential dora acceptance or yaku, you
should look to the opponents’ discard piles to see if any of the
tiles that can stick to these floating tiles (preferably |%| or )
have already been cut.

Consider the suit of the tile as well. Take note of whether it's
a cheap suit (where many tiles of that suit are getting cut), the
same suit as the dora (which tends to be harder to win off of), or
a suit likely to be called by your right player.

The more mahjong theory you learn, the easier it is to get bogged

down with it. Learn to quickly recognize which concepts apply to A

certain situations, like when to use the five-block method versus the

six-block method, or when to consider the opponents’ discards. "
Point

More often than not, there's a good reason to keep one penchan over the other.

Al(E)  oes



Lesson . Complex Joints (1)

Complex joints are just regular joints with an adjunct tile of one
of the tiles that comprise it.

Simple Joint Complex Joints
Ryanmen i’% i’ifﬁ’%%
Kanchan 3 :: S 3 :: S 8 :: ::
Penchan § § §§|§ . g § g

Generally, complex joints follow the same hierarchy that simple
joints do: ryanmen > kanchan > penchan. But sometimes, this
order is reversed when calling is involved.

Let's take a look at the two hands below and compare two

eelee
®e
@
®

complex joints: the complex kanchan |g[eeJes] and the complex
penchan &%) |

® €

Hand EcaaTI(ian%f Upgrades
sleces | [EIE[Z[Sclecifkd[®[®) [¥[=¥] | okay | Good
88l | FEEEHEREEE) ¥[st] | creat | Ba

The complex kanchan |@[sefes| Wins out in terms of upgrades. If

eelee|ee

you draw n and cut . you get the complex ryanmen [esles|ss
and add four more tiles of acceptance. In contrast, the complex
penchan &|%| | has very few upgrades.
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Note that different complex kanchans also vary in ease of calling
and upgrades. The table below compares |$eeles| with | ]} [EE]

Hand Ecg?l?n%f Upgrades
Ll L FAES CEICEEAT [55E] KN
g@ooe gi F 3 g@oee§§§M$$| ‘%’-9—‘{’ Okay Good
AR [ I [%ee|88] ¥ [ F [F1 (PP
B] 888 HEHD HHB GG e Good Okay

F111i1is better for calling, and |8 [sefee] is easier to upgrade.

t| and 11|k, So if your hand already had enough blocks, now

you can drop one of them.

Drawing |iii| for the | 1|} i1l the splits the shape into two blocks,
i
i

Keep these comparisons in mind when you're choosing the
strongest blocks in your hand. Also, note that ease of calling is
directly related to how easy it is to win off of that shape. Shapes
that are easy to call will also be easier to win off of. This is why
you should prefer ease of calling over upgrades for called hands.

When choosing complex joints in actual games, you should also
consider defense. When an opponent forces you to fold, you want

shapes that are safe to discard. Tiles that are closer to the outside are \/
generally safer. That means ease of calling is also directly related to 15
defense.
[ ]
Point

Two factors used to choose complex joints are their ease of calling and upgrades.

Prefer ease of calling over upgrades when building a called hand.
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Lesson Complex ]oints (2)

Al XX

® I
ElElale

i B

iisidpig

@ |8,
® 1818198 aug

20 [6op|%0
©|88(88|88

=-=Q=-=]

=-=J=-=]
=-=N=-=]

This hand has a lot of complex joints and no excess tiles, which
is actually quite typical. I imagine many players could take one
look at this problem and know that the correct answer is , but
they probably couldn't tell you why.

Al X | X ®

ele 20 [ag|ep
Z|lE|E|Tel|e %+883888]+ g 5|8E| T |5EE

| B HH%_HBHN}
i A

We get five blocks and no excess tiles after properly splitting
up the hand. Unfortunately, the only complete block is the run
RS so we'll have to make three melds and one head with the

remaining four blocks.

HilkY is a weak joint, but if we got rid of it, we'd only have four

blocks.

%|£lE| is a kanchan with an adjunct tile, and |3]8[%| and |s¢]53[s

are both ryanmens with adjunct tiles. None of them are excess
tiles, but we have to choose something to cut.

The best course of action to take in this case is to leave the
adjunct tile for the weak joints and cut the adjunct tile for the
strong joints. In other words, “fix the strong and leave the weak".

Both |8]8[%| and |si[st[st| are strong ryanmen joints with an
adjunct tile, but we should cut |gf| to make it easier to get tanyao.




DA X[ x| e e [eee AR
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Be careful not to miss the most obvious detail of this hand. Split
it into blocks first, and you'll see that there's a block surplus.

S& . (.6, [ 11T (11, ([P
@ﬁJrﬁiJ“@®o]+88§§§§+ﬂﬂﬂﬁﬁ+ﬁﬁﬁm

Go for the perfect 1-shanten and cut [Hilgil

You should only fix the strong joint and keep the weak joint's
adjunct tile for hands with five blocks. We treat adjunct tiles

differently depending on the number of blocks we have in our
hand.

1. With six blocks (a block surplus), keep the strongest five
blocks and cut the weakest one.

2. With five blocks, maintain a good balance in the hand by
keeping the adjunct tile for the weak joint.

Fix the strong joint and keep the adjunct tile for the weak joint.

Cut the weakest block if you have a block surplus. Maintain balance in the hand
by keeping the adjunct tile for the weak joint only when you have five blocks.

Al e[
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Lo Complex Joints (3)

How do we choose between two weak complex joints?

Teg| 1
BEE 355 | B

This hand has two complete melds and is at 1-shanten. We
should cut a tile from one of the complex joints, |®]|®|%| or &4

Ideally, we want to make it easier to get tanyao while at the
same time maintaining two heads. Think about the hand we end
up with if we draw the upgrade |ee| OF .

Cut . If we draw , we can drop the |®| pair and go for tanpin.
If we draw [} we'll have the perfect 1-shanten shown below.

o= oo [Pap[ 82| ¥ | 1 |18|FHE[ L. [P4
iﬁ@I@%sSggﬁHﬁMm%g%M

TEE
158 |

f| g

[=-=N=-=]

S

This hand is similar to Problem A. What should we cut this time?

The correct answer is, again, . If we draw |g| or , we can drop
the |®| pair and go for tanyao. If we draw , we end up with a
furiten joint, but we'll still have the following perfect 1-shanten.
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Some of you are probably worried about the furiten joint, so
look at it this way.

Of our total acceptance —, , —, and ; any of the tiles
@] (&1 and [}]would get rid of the furiten. So even if we draw
— first and get to tenpai, we could take the shanpon wait
on |8 and , and we wouldn't be furiten. So there’s no need to
worry about it with this hand.

HAERREEBE 2K
g|ala|a|a | ® |88 |8

Tanyao doesn’t seem possible with this hand, and it's very likely
that the manzu will complete first. Assume that we're going to
riichi and take the shanpon wait if that happens. Sakigiri .

Depending on the discard piles, cutting || or |®| are also good
moves.

Deciding between weak shape complex joints comes up very
often ingame. You'll need to consider factors like available tiles,
how to get an upgrade to tanyao, and whether you'll be able to
take an early riichi or not.

Also, learn to stop worrying too much about furiten. When a
hand has complex joints, the furiten will most likely resolve itself

by the time you get to tenpai. Y

Point

Choose weak shape complex joints by considering available tiles, tanyao, and wait.

Al e o)

071



31

072

S350 Three

-Tile Weak Joint Theory (1)

)
add
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(1)
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®
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=-=N=-=]

This hand has three heads, so undoing the [sg| or |33 pair yields
the broadest tile acceptance. But we want to try and wait on ,
so let's choose to cut either |§§] or .

The two choices may seem the same at first glance, but they can
deliver vastly different results. Think about what we'd end up

with after drawing @.

Cut gg‘ : é
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e |ee
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If we cut |§§] and drew @

, we'd have this hand after cutting .

Cut EHE
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i

®
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If we cut|j|and drew @

, we'd have this hand after cutting .

We get a much cleaner upgrade by cutting [§§|. It lets us tidy up
the pinzu into a sanmenchan while leaving an adjunct tile for the
weak joint in the souzu.

isn't the only tile cutting (§§] is good for. Drawing |se| OF |¢s| gives
us a ryanmen, and even though drawing |s§| makes us furiten,

we'll have a three-sided wait.



The main idea of three-tile weak joint theory is to keep the weak
blocks in three-tile shapes. “Weak” here doesn't just refer to
joints like the kanchan, but also the joints’ potential upgrades.
s2/s2/88| and |} [iili1| are both relatively weak joints, but since the
pinzu joint is connected to |§|%|es, it has more upgrades than
the souzu. That means we should leave the adjunct tile in the
weaker souzu joint alone. This is one of those things that doesn’t
seem important at first, but actually has a significant effect on

the hand later on.

Prob. B
x|z |ee|ee|ee|ee|ee REEIET:
ﬁiiﬁiﬁ@@@%@%%gggg § |18 HH‘P‘H

This one’s a bit easier to understand than Problem A. Let's cut
either |§§] or | ; | to make it easier to wait on the yakuhai.

The shanpon we end up with if we keep |§§| and draw [sf] is clearly
inferior to three-sided wait we'll get if we keep |j| and draw .
The correct answer is . Notice that we're maintaining the three
tiles in the weak souzu shape.

Three-tile weak joint theory feeds into a broader theory that
says it is optimal to maintain an odd number of tiles across suits.
Both Problem A and B decrease the number of pinzu from six
tiles to five tiles.

W\

Point

Keep the weak blocks in your hand in three-tile shapes.
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S oAbl Three-Tile Weak Joint Theory (2)

You might have already known that joints work well in three-
tile shapes, but you should also be familiar with how to use the
technique correctly.

"Weak joints” is specified in the name of the theory because
many players don’t know which joints to keep at three tiles.

This problem looks like Problem A from the last lesson, but the
joint in the souzu is now a complex ryanmen. Cut 33| and keep
the adjunct tile in the pinzu joint. This gives us the broadest
tile acceptance and focuses it on the weak shape in the pinzu.
Just like we learned Complex Joints (2), we fix the strong joint
and keep the adjunct tile of the weak joint.

Prob. B
w2 | @ |® | § |13 3~8|3A8
ZlE|E & 0% ¢ MHHMM‘?‘P‘P

There are four tiles in the manzu, two in the pinzu, five in the
souzu, three honor tiles, and no excess tiles. Cut a tile from the
manzu to make it a three-tile joint. If we cut @ we can pon
or , and we won't end up with any excess tiles. But if we cut
and pon [f) we'll have to drop either [E[] or [l which leaves

us with an excess tile.




Don't make the mistake of turning the manzu into a ryankan by
cutting . Even though it trims the manzu down to three tiles,
compared to | or , you lose four tiles of acceptance (and you
lose your only head if you draw ).

When you're using three-tile weak joint theory, prioritize max-
imizing acceptance at 1-shanten (1-shanten peak theory) and
maintaining two heads at 1-shanten (two-head theory).

Make sure you're not misusing three-tile weak joint theory. It is
only valid when your hand has no floating tiles or excess tiles. If
it does, focus on getting rid of those tiles.

® | % s8ls 1|2k k| | P ‘1’]

Keep it simple and cut . The hand has a block surplus even if
we cut , so it might be tempting to get rid of the weak shapes
by cutting . But we prefer the chance of completing a meld
over the chance of forming a strong joint with .

ara
land
ara

&

l

<X

Point

Strong joints are good enough with two tiles. Leave the three tiles for weak joints.

Prioritize 1-shanten peak theory and two-head theory over three-tile weak joint theory.

Answers A: . m C .
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- Lesson . Dropping ]oints (1): Order .

In what order should we cut tiles from joints like kanchans and
penchans?

Prob. A

FAEAESEAES e raliil ¥
B

REGRE CHSERE s

In Problem A, we'd typically cut from the inner tile , since the

hand doesn’t have any weaker joints to drop, even if we form a

furiten ryanmen (§[%)) or a kanchan (8 /es).

Some people might disagree and say, “if we start from |@| and
draw , we could go for a riichi tanpin hand and drop the
pair.” But we can’'t upgrade the hand to tanyao without passing
up on a riichi, so it doesn't really matter whether we have a
head and a |e| head. Even if the hand becomes pinfu, tanyao is
unlikely.

For Problem B, cut from the outer tile . Although it's riskier,
we could form a head with |@| and easily go for tanyao.

Both the manzu and the souzu are good shapes, so there's only
a small chance we draw |g| before we get to tenpai. Even so, it's
still better to cut from . The probability of drawing |e|to get to
tenpai, assuming no upgrades, is 12% (3/25).



By
e
o
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Prob. D
AN PEARNEAERXE § (B8
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Problem C: Cut . Some of you might have chosen to cut E
first, but keeping it gives us a chance to get rid of the pinzu
double acceptance, go for 4-5-6 sanshoku, and accept . If the

souzu upgrades to a ryanmen, we'll drop the |8 %] joint.

Problem D: Cut . Since the hand can accept |3 even with-
out , this choice gives us the broadest tile acceptance, at 16
tiles in 5 kinds. Compared to that, we miss out on four tiles of
acceptance by cutting |&2| or . Even if we draw , we'll get pinfu
anyway, so we should start cutting from .

Is the discard pile a “window into the hand”?

Say you discard a kanchan from —> or a penchan from —>.

How do you think your opponents would react to this? They would
probably note that you cut from the inner tile since this is an odd way
of discarding. Many players will try to guess the speed of your hand
or the shapes you have from this information.

Nowadays, some players cut tiles from a joint in the opposite order of

these general principles on purpose to misdirect opponents. It's hard |
to say if this actually has any effect on the game, but it's something )
to keep in mind.

Point

Think about risk versus reward when cutting tiles from a joint in a certain order.

A:[8] B:(@ c:[f] o:[f] 077
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Lesson Dropping ]oints (2): Tlmmg

7|3 [eelee|ee|@8ece| § | § | § |2iE[EEE
AR

We might be able to make two melds from the yonrenkei in
the manzu. If we get another tile to build upon the manzu, we'll
drop 2. But drawing [s¥| gets us to tenpai immediately, so it's
better to keep in the hand for now. Fix the ryanmen with || and
go for pinfu. Even if the pair became a set, we'd have a bad wait
hand with no yaku.

> eelee|ee eoo § |F§|HE|Bad BAE
# |oo|oo| 88 gg% §|BE|8E DA

The best answer for this one depends on turn number. Unlike
in Problem A, we should drop the penchan and revert to 2-
shanten. By doing this, we can get better waits and we have the
option to call with tanyao.

Cutting , , , or |3 gets us to 1-shanten, but all the possible
tenpais from there are no-yaku bad waits. Nobody wants such

a crappy 1-shanten!

Start by cutting from . Even though drawing [s§| gives us a
potential furiten, it's a three-sided wait.



Don't make the mistake of cutting from the souzu. If you keep
both pairs, one of them could complete into a set. Also, draw-
ing |s Or || makes a strong shape in the souzu if you keep the

complex kanchan | { [Hi[i]

=|w | A3 (o0|ee|ee| § (FF|TE|EEE| EAd|BAE
|8 | £ |4 |oo|oe| 88| 7 |58|11|508| 0
=|w [ &3 [eeleelee| § (18] E[.E [3~E[1AE
£ |E|E|E|ooloo|88| 5 31|11 |50k M|

Dropping a penchan takes two turns. So, especially with today’s
lightning-quick mahjong rounds, you need to consider if the
value you're adding to your hand is actually worth the two turns
it takes to drop the joint. Keep in mind that two turns in the
late-game and two turns in the early-game have vastly different
implications.

When you're not sure whether to go for pinfu or tanyao, you
should stick with tanyao in most cases. It gives you more fu if
the hand is closed, and you'll always have the option to open
your hand.

Your judgment with these kinds of problems will get better with
experience. Try to remember what you learned in this chapter
and take it at your own pace.

I

A

Point

Don't take crappy 1-shantens, revert your hand back to 2-shanten if you can.

Make sure the value you're adding is worth the two turns to drop the joint.
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Chapter 4

Complex Shapes

complex (adjective) [kom-pléks']
1. having many parts or aspects
that are usually interrelated.

from Merriam-Webster




; ;Ee_,sson | Ryankan (1): Valuation

A ryankan is a shape that's sort of like two kanchans stuck

together, as in |8 ]es|32|.

Both ryanmens and ryankans have the same tile acceptance,
at least before you get to tenpai. That's why some players
consider ryankans to be almost as good as ryanmens. But I
think the two shapes add completely different values to a hand.

® (0| oo (@i (e T [T1|10[.E [PaEE
| % | ® |oo|88 |=n|as|p 1|18 |5's| k| pg| il

The above hand is in 1-shanten with a ryanmen and a ryankan.
If the ryankan completes first, the ryanmen will be our wait, and
we get pinfu. But if the ryanmen completes first, we'll end up
with a kanchan wait and a yaku-less hand.

Hopefully, you can see from this example that the ryankan is
simply not as good as the ryanmen. If we were ranking these
shapes on a tier list, I'd place ryankans a whole tier below them.
But of course, ryankans do have perks like setting suji traps, so
there is some ambiguousness.

Tier List: usually used in video game culture to rank aspects of the
game (such as playable characters) based on how powerful they are.
We can apply this to shapes in mahjong too.
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Here's a simple way of putting it for those of you into trading
card games.

®@B|ee
00|88

Ryanmen | Ryankan |

CPH | | € &

Attack falls to 4 if kept
until tenpai.

2)

“High damage at a low cost.
I'm the king of joints.” "If only I'd been born a ryanmen.
I'd rule over them all...”

The “cost” refers to the number of tiles used to create the joint.
A ryanmen uses two tiles, and a ryankan uses three. Even though
it's just a one-tile difference, you could keep a safe tile or an
adjunct tile in a complex joint with that free space. Also, notice
that the ryankan’s attack (acceptance) is halved if it's kept until
tenpai. Pretty big dealbreaker, huh?

W\

Point

Think of ryankans as a tier below ryanmens.
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Lesson Ryankan (2)

When should we keep ryankans and when should we drop them?

=-=N=-=]

it gl gl
B8 | RER| A Bt AR

==

)
28|38

We can either keep the ryankan by cutting [p4) Or fix the kanchan
by cutting |g| or . But as you can see from the tile acceptances
listed below, cutting |p4| IS not very good.

Cut E %’ ’g f.% Z@z gg %E gg 7 kinds, 24 tiles
cutlE | E E 1B 22| 55|88 | 7 kinds, 24 tiles
Cut ﬁ fﬁ % :@: gg 4 kinds, 16 tiles

So which kanchan should we make the ryankan into?

It depends on the players we're up against and how the game
is going. If we cut , we set a suji trap on the . But in today’s
mahjong scene, fewer players choose to go with this trap. We
might instead cut |g| to accept [&] or draw || for a ryanmen
upgrade, which is the more modern style of play. Then, if we

draw the upgrades , , or , we'll get rid of the manzu.
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With this hand, it's better to keep the ryankan. Cut |j§j to fix i} as
the head and maximize tile acceptance.

We shouldn’'t keep the — acceptance since we could lose
tanyao. We'd lose our head if it completes anyway.

N EA B kadhad b A B B BB|8 . B|3Ep(B28(BEE
&4 |4 |eelos|os|88(88 §§ 18|88 annliin b

Pick out the [seles|ss, and you'll see we have a [sels|B8| ryankan.

FAESNESNCEIET B 8(8. 2[aR[E2E[2EE) (eelee|ee
ﬁﬁﬁoe@gggﬁﬁﬁﬁﬁﬁﬁﬁ 23k |ee|ow| 88

Cut |£|and go for pinfu sanshoku iipeikou.

/

Point

Learn when to keep ryankans and when to drop them.

AE@ =l @
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Lesson . Ryankan (3)

& [oc]oe|tt 881

The ryankan in the pinzu has an adjunct tile. Cutting 2:2| or @
both give us the same tile acceptance. Let's think about which
one we should choose.

Cutting |ee| lets us accept , , and — (4 kinds, 16 tiles). Then

if the pinzu complete first, we'll have a ryanmen wait, and we
can claim pinfu. But if the souzu complete first, we can only wait
on a kanchan with a yaku-less hand.

Cutting |§§] lets us accept , , , and — (5 kinds, 16 tiles).
However, we only get pinfu if we draw . If the souzu complete
first, we can choose between a shabo wait or a kanchan wait.

==
[=-=§ =]
2em] =}

[=es]==s fuen]
=g

RS
I ERER
== ==x]=os]

Don't forget to consider the upgrades. Cutting |es| OF |§§| both
lead to a shape with a [%| ryanmen upgrade.

If we cut |ee| and draw , we'll start dropping the |ss|88| kanchan
by cutting . Cutting 88| and drawing |%| would also lead to us

cutting .

ee|.[—~[=[= e [ee B |8, |Ba|REE
Cut |gof ||| T | & | 1 | %|oe) 48 1111 | HHlbetli
[=T=x]x e |eo|ee| § |FH| I |Bad
Cut §§-gggﬁ ‘e|lee|oe|t # 1| iii|i




Cutting |§8| from Problem A might seem better because it could
lead to a perfect 1-shanten. But if either of the |£] or |e¢] heads
become a closed set, we'll lose pinfu. For that reason, I don't
think the perfect 1-shanten is that much of a benefit.

With all of this considered, our best choice is to maximize our
chances of pinfu and cut . We prefer this direct upgrade in
points over a small chance to upgrade the hand’s shape.

Prob. B
—|=|=|%L|X e©|©e6| e B (5§ |BER|BEE|BER
AHEEEISEL R

Pinfu is highly unlikely with the the closed set of , so let's
change up our strategy. A single closed set of terminals and
honor tiles yields 8 fu, so any other closed set gives the hand a
fu boost. Cut [§§| to make it easier to build a closed set.

Fu Boost: Most non-pinfu hands only score 2-10 extra fu on top of

the basic 20 fu (or 30 fu for a closed ron). Because of fu rounding, X |

we say that any hand that gets over 10 extra fu, when it otherwise

wouldn't have, has gotten a fu boost. This awards more points. "
Point

Prioritize a direct upgrade in points over a small chance to upgrade the hand'’s shape.

When 8 fu is already guaranteed, considering going for a fu boost.
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Lesson Ryankan (4)

®0 REEER T
AR e

The only thing different about this hand from the last lesson’s
problem is that the |£| head is now a || head. Since the head is
now an inner tile, it can upgrade into a strong joint. So if we cut
, drawing any of , , or [ % puts us in perfect 1-shanten. But
if the souzu complete first, we'll have to choose between bad
waits: a shanpon or a kanchan.

However, only the eight tiles of — (2 kinds) complete the
ryanmen in the souzu. Statistically, we're more likely to draw
the 12 tiles of , , or %] (3 kinds) for the upgrade to perfect
1-shanten.

Cutting is a blunder. Upgrades for the manzu pair won't
increase acceptance by very much, and you're likely to end up
with a bad wait.

Either choice of [§§ or |ee gives us the same amount of accep-
tance toward the — ryanmen tenpai, but they differ by a lot
in terms of upgrades.

The correct answer is to cut [§§| and maintain the two heads.



In the last lesson, I mentioned that it's better to prioritize a
direct upgrade over a small chance to upgrade the hand’s shape.
But with the || head, it's now much easier to upgrade the hand.

Some of you may be experiencing a bit of déja vu right about
now. Well, that's because we've actually been over this type of
problem before. Remember Two-Head Theory (3)? We learned
that between a kanchan and two heads, you should usually keep
the two heads. As it turns out, this line of thinking also applies
to ryankans.

Prob. B
x| @ |oc|eo|ee |eeg|ees| | § |3, F|FRE|BEE|BEE
|4 |4 © |es|on| 88|88 |o0e| 1 1|1 0 1E/5iE|EiE

The shape in the pinzu is called a long ryankan. It's sort of like a
regular ryankan, but with an extended middle section. This onein

particular accepts %] and .

Cutting , , or [z all yield the same tile acceptance, but the
correct answer is to cut |£| and go for pinfu sanshoku.

W\

Point

When you have a head of inner tiles, drop the ryankan and maintain two heads.
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el Ryankan (5): Ryankan Frames
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Our choices are , , and @; but we should keep [t since it lets

us form a ryanmen by drawing . Let's compare |%| and |©| by
looking at the shapes we get when we draw |&|and E

» Keeping |%| and drawing |%| gives us the kanchan |%
» Keeping |®| and drawing [%| gives us the ryankan |@

Ryankans are better than regular kanchans, so |g] is the correct
answer. Two-tile shapes like these with three spaces in between
them are called ryankan frames.

‘e

® ey

Prob. B
NFRER AR R
% |2 | || ot gt e o || | P [ |

Our choices are |¢| and .

» Keeping [£| and drawing || gives us the shape |E[Z|Z]|E £
» Keeping & and drawing [s§] gives us the ryankan |do|se[es)

The ryankan might seem like the better shape since it accepts
two kinds of tiles, but think about what you would cut if you
managed to draw it.

w A | 3 (@9 (Seg|ese| ] ]
SEAEANASIE R

Pl P[5




Considering we want to pon || or , it's hard to say what the
best move here is.

On the other hand, say you cut |g| and draw .
i pidis!
| ¥ [5])

The best move then is to cut , which keeps the hand open to
ryanmen upgrades in the manzu. A ryankan wouldn’'t do much
for our hand in Problem B, so the correct answer is to cut .

!

HERREEE
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|| T | 8 | |52 it ot ap | P |26 || P [5—| P

This is the same as Problem B, but with the run in the manzu
moved away from the |£]. Even with this change, . is still the
correct answer. Like in Problem B, the [&]s8]& ryankan is hard to
keep in the hand, which makes the regular [£|£| kanchan easier
to use. Even if we're left with the kanchan as our wait at tenpai,

there’s a chance it could upgrade to a ryanmen.

Leaving the ryankan frames alone is a solid strategy, but it's not
always ideal. Remember that ryankans often lead to a bad wait,
which is especially true for called hands.

/

\\

Point

It's not always good to keep ryankan frames.

Answers A: . . .
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Lesson Yonrenkei (1)

A yonrenkei is a complex shape made up of four sequential tiles,
as in [%|eeles|gs| Cutting one tile from the shape forms a single
meld, but the strength of the yonrenkei comes from its ability
to stick tiles. For example, drawing any of — or — for the
above yonrenkei gives you one run and one ryanmen, and the
and |gg] give you a sanmenchan. Out of all the four-tile com-

plex shapes, the yonrenkei is the strongest.

=[=]w[xx]e |eecleelee| § | § [F5E[i~E3~E
& & |E|E| &) %leoloe| 88| § | T |351|0|04

g8| yonrenkei as comprising two blocks,

® e
® @
©)

We can see the [%

%les| aNd |a5]22|.
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Now that we've split the pinzu into two blocks, we have a block
surplus. Although it increases our shanten, we should drop the
i|#| kanchan and look to upgrade the pinzu. Start cutting from

the outer tile |£| to keep the hand open to the |£| upgrade.

=[=|w|Xx @ |ee| I | § |IBE|B~E|BAE
i &|&|& elee| I | T |551|DM|DM




Yonrenkeis get exceptionally weaker when they're at the edge.
Technically, |®]8|%|es| is a yonrenkei, but in practice, it's not much
better than a floating . Only [%| and |&| form a ryanmen joint,
which is only half of the normal yonrenkei's acceptance, and
neither of them lead to a sanmenchan. Drawing — gives us
one run and a pair, but the hand already has enough heads. Cut
inward with .

= =[x ] % [ee]ees T |T.5[30
:ﬁ»ﬂs’;ﬁﬁﬁ%%m%gg 8 |5'|588

This hand has an edge yonrenkei and is in headless 1-shanten.
Dropping the ||| penchan is the best move. If we draw . .
first, the hand gets pinfu, and if we drawn . first, we'll end up

with a . ! double tanki wait.

It doesn't matter that much whether we cut | or ;| first. If you
want to inch the hand inward, start with . If you want to cut
safely, start with . Since this hand probably won't get tanyao,
I recommend cutting || first.

Stick: to connect a newly drawn tile to a floating tile or shape and \/
form a new joint. A “sticky 1-shanten” is a type of 1-shanten where ks
you can get to tenpai by sticking a tile.

Point

Inner yonrenkeis can be split into two blocks.

Yonrenkeis at the edge are often not much better than a floating inner tile.

Answers A: . B: @ C: .(.) 093
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Lesson Yonrenkei (2)

Now let's consider the different kinds of upgrades yonrenkeis
have.

All tiles from[@]to [ff] are effective tiles for the yonrenkei [%Jse]s2]3E)
In other words, a hand with this yonrenkei can accept every
pinzu tile except for .

(2 kinds, 8 tiles
(2 kinds, 6 tiles
(2 kinds, 8 tiles
(2 kinds, 6 tiles

and
and
and
and

form a sanmenchan (~29%)

form a run and a ryanmen (~21%)
form a run and a kanchan (~29%)
form a run and a pair (~21%)

v v v Vv
) ® ®
[«*] @ ]S8]lee]

N’ N SN N

EHEIBdE

The percentage for each tile group above is calculated from the
number of tiles for that type of upgrade out of the total upgrades
(28 tiles). This only applies to yonrenkeis, so use these values to
get an idea of how useful the shape is. If you're looking to stick a
tile to the yonrenkei, note that there's a 50% chance that it forms
a strong joint.

A
Z|w(w || X[ e [ec|ee|ee| § |§]|T, I TTE
L& &L % %loolon| 881 5| 11|55 588

This hand is in 1-shanten with two yonrenkeis. Cutting |&| yields
the highest acceptance at 58 tiles in 17 kinds, but remember, we
shouldn’t decide what to cut based solely on acceptance. If we
cut , the hand will almost always get to tenpai by sticking a tile.
I say "almost always” since || could become a closed set, which
would lead to a double tanki wait. We'd end up with a run and a
ryanmen (or a three-sided wait) about 50% of the time, but since



we have to account for drawing , the chance of a good wait is
actually slightly lower than 50%. Put simply, if we keep the two
yonrenkeis, we'll have bad waits like kanchans or shanpons at
tenpai more than 50% of the time.

P
8

Let's keep the complex ryanmen %| SO we can use it as both

a potential head or ryanmen.

Instead, we'll choose between [%), 33}, ' and [l Out of these four
options, only |y preserves both 3-4-5 sanshoku and red accep-

tance. Cut .

=|=|=|&|[x|x]|e |ee|ee|ee| § |5§|5.5|53E
|22 |E|E|E| %lee|on| 281 5|11 |1|58

This one is like Problem A, but with the manzu shifted a bit. If
we need a good wait, the best move is to cut a tile from the sou-
zu, the same as before. If we need points, we don't want to lose
tanyao by drawing , so the best move is to fix the head and
cut . This yields the highest expected value and compromises
between tenpai rate and score.

W\

Point

Keeping yonrenkeis at 1-shanten only nets you a good wait about 50% of the time.

095
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Lesson Nakabukure (1)

A nakabukure is a complex shape that looks like a run with an

Z. x| o A

extra middle tile, as in |%|%|%[Z]

This is a strong shape that is easy to form ryanmens with. The
only tile that doesn’t make a ryanmen when you stick it to the
nakabukure is the middle tile. It's especially strong in pinfu
hands, which require ryanmen waits.

Prob. A
33 [e |ee|ee|ee|eep|88 (33 ]3.8|1. 5310
ZE|E|% | %|cel0s| 28 88 gg R

This hand has two nakabukures. The three choices below all
yield around the same tile acceptance.

e | |wo|[&|2]|[Xx || ]|[®®| & |[B8]|[8,8|E8E|[.E.| 11 kinds,
Cut | %))\ )£ )| )% ) oo\t 1|28 18 ) 34 tiles
3. [=l[@][e, |[2®)|(e®]( & |(EE](E,E|[38|[E,| 10 kinds,
Cut|g @ ® || %||ee)|oe)|s 7| 11)|1H 508 i 33 tiles
C tﬁﬁﬁ---‘” (2] || @ ® |[e, |[22|[ee 10 kinds,
ety ()| £ £ & @ || "e/lee/(e®] 33 tiles

Fixing the head when your hand has two nakabukures is gen-
erally the best move because you have a very high chance of
getting a good shape tenpai. Cut .
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This hand only has one nakabukure, but the correct answer is
still . It's hard to make heads with nakabukures, so we should
fix the head and leave the souzu alone. This way, drawing either
or g} puts us in tenpai with a ryanmen in the souzu. Just
remember that it's usually okay to fix the head when your hand
has a nakabukure. As for the tile acceptances, cutting [%| yields
38 tiles in 12 kinds, |£] yields 37 tiles in 11 kinds, and [} yields
33 tiles in 10 kinds. [%] is our best choice, but |£|and |j; aren't all
that bad either.

In actual games, you can choose not to fix the head to go for
tanyao or other yaku. If you keep in mind that nakabukures com-
plement fixing the head, it'll be easier to tackle these problems.
Even though both of the problems in this lesson are 1-shanten,
it's completely fine to fix a head with hands even further away
from tenpai as long as you have a nakabukure.

You can also choose to keep tiles that are useful for dora. For
example, if Problem B has the dora in the souzu, we might even
consider [£]. Even though this move lowers our chances of a
good shape tenpai, it's covered by the additional han, which

doubles our points. :

A\

Point

Fixing the head when your hand has two nakabukures is generally the best move.

It's usually okay to fix the head when your hand has a nakabukure.

097
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Lesson Nakabukure (2)

In the last lesson, we learned that it's usually okay to fix the head
when you have a nakabukure. However, you shouldn’t do this
when your hand has unstable heads.

-
s
P
Y
®6
e®°
®
@®
28
ot
evod

) i RE

Cutting yields 34 tilesin 11 kinds, yields 33 tiles in 10 kinds,
and [ff] yields 21 tiles in 6 kinds.

All of our joints are in strong complex shapes, and the strongest

is | Z|E|£|£| If we're left with this shape at tenpai, we'll be waiting

on the 3 kinds [ . . i and [F . so we should try to keep it.

fEry
fEN
N

The head in the [£
split it into blocks.

shape changes depending on how you

T+ E {ﬁf é The head is .

g + g g The head is .

Until the shape completes, we don't know where the head
will be, so we say that the hand has an unstable head. When
the head’s position is not clear, leave blocks with strong joints
alone. It might be difficult to understand why, but once you
study the problem a bit, it'll become clear. We want to be

v ~
sl

b

ey




able to wait on — once the manzu complete with — or .

This means our best move is to cut , which does away with
the nakabukure. The answer might not be obvious at first, but
the trick is to realize that you are most likely to get to tenpai by
completing the manzu. If you cut [§§ instead, i’ becomes an idle
tile.

[=ea]=es fusa]
=-=]--=]

Y lele
adlE|lE|ldle|%

©60|06|00\00|] (I |E1E
ooloo|oe|oe HHE i3isiq pigigi §

E Is a double dora, so keep it in the hand. The correct answer is
to cut , which makes the most of the dora.

As long as you remember that nakabukures don't go well with
unstable heads, these problems are easy to solve.

The opposite of an “unstable head” is a “stable head”. Your hand has
a stable head when you know where the head is likely to be.

A stable head might sound better than an unstable head, but this
isn't necessarily true. In fact, a lot of the time it's easier to go for
higher-scoring hands when you have an unstable head.

Many advanced WWYDs are based around unstable heads. Take the Al
time to learn this concept at your own pace.

Point

Nakabukures don’t go well with unstable heads.

A:lly B:fi
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A Nakabukure (3)

There's one last thing that you should know about nakabukures:

what to do with tiles one space away from them, like |@|%)|%|ee|/-

You can also think of this shape as |8 [es]22|+|%| %} a ryankan and
a pair.
=|=|w(x(0 (e (@ [ee(ee F ] § §EEE I |
k6| &) L] @] %| %|ee|88 |11 |1y 1 M
Our choices are @ , and . The correct answer is |}
(2].. [ |[eo]|(ee]|| § ||35F||BEE . .
Cut & |88 |5 §ll5em ﬁ]kads, 20 tiles
Cut 000 -' itf §§ EEE ggg ﬁ 5 kinds, 17 tiles
cut|ge| 1K |[% |55l B2 83| 5 kinds, 16 tiles
The nlr@- acceptance is shared by all three choices, and

drawing another tile of the other kinds to form the head also
puts us in tenpal. But only cutting || keeps the additional
acceptance.

Then if we draw — or , we can take an even wider accep-
tance at 1-shanten by cutting .
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Cutting @ yields 33 tiles in 10 kinds, @ yields 20 tiles in 6 kinds,
and [8] yields 19 tiles in 5 kinds.

wins out in terms of pure tile acceptance, but the correct
answer is actually . If we cut , there’s a high chance we'll end
up with a bad wait tenpai. |§§| yields a higher good wait tenpai
rate and allows us to take in upgrades. However, as the round
progresses into the late-game, tile acceptance becomes more
important, and we should consider .

Cutting |@|and keeping the ryankan also leads to a high bad wait
tenpai rate. This should only be done to go for yaku or dora.

A RN ER eo|ee (0o ¥ |1 1 |HEE|, 2, |Bad
r- g oo|oe|co| 1|3 8|5 EEEM;II:

You might be tempted to keep | for a tanki wait, but it's better
to keep the nakabukure and the tile one space away. Not only
does it give us a broader acceptance, it also lets us go for pinfu.
If the souzu complete first and no one else has riichi'd, taking
the first riichi with |ee| fOr the |®| tanki wait is still pretty good.

W\

Point

A nakabukure with a tile one space away is powerful when your hand is headless.

a:[z] e:ff] c:[#
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Lesson Aryanmen (1)

An aryanmen is a complex shape that looks like a run with an
extra outer tile, as in [%|%|esles. There are two ways to split them

into blocks:

® 6
®
©.©
%@

® |eo[ee| (@ . .
| 4 @ loolcslT| % Run + Floating Tile

e [e |, [ec]ee
Ple e+l Head + Ryanmen

Following the yonrenkei and the nakabukure, this is the third
four-tile complex shape that we'll be learning about. These three
shapes are very common in WWYD problems.

818!
18131 |2k

Which tile would you cut, , , or ? We already have three
melds, and we just need a joint (preferably a ryanmen) to get to
tenpai. The yonrenkei and nakabukure accept 4 kinds of tiles to
make a ryanmen, while the aryanmen only accepts 2. The cor-
rect answer is to do away with the aryanmen, the weakest shape

of the bunch, by cutting .

This example is no special case. When you're stumped by a
WWYD that has complex shapes like yonrenkeis, nakabukures,
and aryanmens, remember that most of the time, the correct
answer is to cut the aryanmen.



I want to stress that “when in doubt, cutting the aryanmen is
almost always correct.”

The “almost always correct” part might seem like I'm making a
half-baked guess, but it's rooted in some solid reasoning.

First, you need to understand that aryanmens are weak shapes.
There are several reasons why:

1. You're just as likely to form a kanchan as you are a ryanmen
by sticking a tile to the aryanmen.

2. When the aryanmen is left at tenpai, your wait is, at most,
only six tiles.

3. If there is another potential head, you might end up with
a shanpon wait.

Since aryanmens are so weak, even if the optimal move is to
keep the aryanmen, cutting it by mistake isn't such a big deal.
And difficult WWYD problems usually follow a pattern: they
force the player to decide between weak shapes, which include
the aryanmen.

This idea that you can’t blunder by cutting an aryanmen even
when there is a better choice lends us a lot of leeway for our
judgment. Once you're done with this book, hopefully you won't
get stumped as often!

/

\\

Point

When in doubt, cutting the aryanmen is almost always correct.

N
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Aryanmen (2)
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Most people probably choose , but the correct answer is .

Cut

Cut

Cut

8 6 Kinds, 20 tiles

gﬁg 6 kinds, 19 tiles

.| @|ee| § |(EE,2
& @ ||les|| § Eﬁﬁ gggM
iAdl...| 53 @ |[e9o|| §
M| & % ® ||loal|| &
EAMES ® |[ee|(i~d]
i ﬁg ® ||oo||i4

5 kinds, 12 tiles

Cut |£] for the broadest acceptance. g4 contributes to both the
and [p4| acceptance in this hand, making it a very powerful tile.
It's very easy to overlook this [ kanchan draw, so be careful.

This choice also guarantees tanyao at tenpai, so it wins out in
terms of scoring as well.
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The answer to this one is also to cut the aryanmen with . is

important since it gives us || and [&] acceptance. Drawing —
also puts us in tenpai.

As you can see from these two examples, when your head is
unstable, you should take note of which tiles you could draw to
make one and advance shanten.

A lot of the time, the difficult problems with an aryanmen are
hands without a head (not counting the pair in the aryanmen).
Get into the habit of checking whether or not you will have a
better way to make the head when your hand has the aryanmen.

In actual games, if you have no head, you might even consider
keeping floating tiles over an aryanmen if you're confident there
are still some tiles of that kind in the wall. Even if you don't draw
another one of them to make your head, it could be relatively
easier to win off of as a tanki wait.

The same goes for live dora tiles. Since they're so dangerous to
cut, you're better off keeping them in your hand. You could look
to make a head with them and cut the aryanmen instead.

I

T,

Point

Get into the habit of checking whether or not you will have a better way to make
the head when your hand has an aryanmen and no head.
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gl Comparing Waits (1)

® Ryanmen vs. Aryanmen (1)

We know that the aryanmen is a weak shape, but exactly how
weak is it? We can get an idea by comparing it to the regular
ryanmen.

While the ryanmen can wait on eight tiles at most, the aryan-
men can only wait on six. Because of this, you could logically
conclude that aryanmens are three-fourths as strong as regular
ryanmens. But that's not quite right.

If you've ever watched a pro mahjong game, you might've heard
the commentators count the remaining tiles in the wall for a
player's waits. Sometimes, they’ll even do it for multiple players.
This only possible because, as spectators, they can see every
player's hand.

Let's say, for example, we're watching a game and two players
riichi. One of them has a [}iil] ryanmen and is waiting on {4}
The other has a [%]%]se]3] aryanmen and is waiting on [%-[i]. If no
one has any of these wait tiles in their hand, and they're all in
the wall, the commentators might say it's “eight tiles vs. six tiles”.

Qg i - e |e |ec|e® | .

23 HHE (- walit) vs. % %leslcs (" walit)

Of course, it's rare for no one to have any of the wait tiles. Let's
be more realistic and say that two tiles from both players’ waits
are in some other player’'s hand. Then, it's “six tiles vs. four tiles”,
and the aryanmen is only two-thirds as strong as the ryanmen. If

four tiles from both players’ waits are being used, it's “four tiles
vs. two tiles”, and the aryanmen is half as strong as the ryanmen.




The maximum acceptance of the aryanmen is only two tiles less
than the ryanmen, but its relative worth plummets when you
factor in realistic tile counts.

The Aryanmen’s Relative Worth
9 80%
8 o 70%
/ \\\\ 60%
NG N\ N\ 50%
2
N NN o
; N\ 30%
, N\ 20%
1 \ \ 10%
0 “ \ 0%
O 1 2 3 4 5 6 7 8
— Ryanmen w— Aryanmen s Ratio

The left axis is the remaining tiles of each wait.

The bottom axis is the number of tiles of each wait being used.
The right axis is the ratio of tiles in the aryanmen wait to those
in the ryanmen wait (aryanmen wait/ryanmen wait).

M

Point

The maximum acceptance of the aryanmen is three-fourths that of the ryanmen,
but its relative worth plummets when you factor in realistic tile counts.
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Lesson Comparing Waits (2)

® Ryanmen vs. Aryanmen (2)

Sometimes, we prefer an aryanmen over a regular ryanmen.

=
==

Take, for example, two players at tenpai. One has a [£|%]| ryan-
men with a [£}-[F] wait, and the other has a [@]@[8]%] aryanmen
with a — wait. This time, neither of them riichi.

':E 'z' (- wait) vs. @ @ g 090 (— wait)
Both of them keep their tenpai, but nobody deals in, and neither

of them manage to draw their waits. On the last turn, they both
draw dangerous tiles.

Both players want to avoid cutting this dangerous tile. But for
the player with the ryanmen, this is impossible to do without
breaking their tenpai and paying the no-tenpai penalty. On the
other hand, the player with the aryanmen can simply cut |®| and
switch to a tanki wait on the dangerous tile. Of course, this is
assuming the @] is safe to cut. Many players build aryanmen
waits for tiles that are easy to win off of, which is directly related
to how safe the tile is.

® Ryanmen vs. Kanchan

In the last lesson, we learned that aryanmens are only, at most,
three-fourths as strong as the ryanmen. Even then, its relative
value can plummet. Some of you may be wondering if this also
happens to kanchans when we compare them to ryanmens.

The kanchan’s maximum acceptance is four tiles, only half of the



ryanmen’s maximum acceptance. You might say, then, that kan-
chans are only half as strong as ryanmens. Applying the same
logic we used in the last lesson, the kanchan's relative value to
the ryanmen seems like it drops even faster than that of the
aryanmen. But when we look at the win rate of these waits with
real-life statistics, it's obvious that something doesn’t add up.
Kanchan waits are better than expected.

The main reason this happens has to do with suji. The two kinds
of tiles that ryanmens wait on are suji to each other. Kanchans,
however, only wait on one kind of tile. This means that tiles that
are safe to ryanmen waits can be dangerous to kanchan waits.
For example, if an opponent knows you're in tenpai and sees
in your discard pile, they might choose to cut , which is not
possible for you to win off of if you have a ryanmen wait. It is
possible, however, for you to call ron if you have a kanchan wait
instead. This is called a suji trap. Kanchans that have them are
more likely to win than kanchans that don't.

Hopefully, you now have an idea of why you shouldn’t compare
waits based purely on their tile acceptance. Once you've played
enough games, you'll get a feel for how good each of these
waits actually are.

Everything I've said about aryanmens in these last two lessons
also applies to double tanki waits. Likewise, what I've said about
kanchans in this lesson holds true for penchans as well.

<\

Point

It's easier to keep tenpai with aryanmens in the late-game.

Don’t compare waits based purely on their tile acceptance.
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Suwwire’s Notes

A|lw | A |e |ooeeee| § | § (FT(E,TE
E|HE|E|H %oeaeo’%ﬁﬁﬁﬁﬂﬂﬁﬁﬁﬂk;ﬂ:

Tiles That Stick to Yonrenkeis, Nakabukures, and Aryanmens

All Kinds Ryanmen Kanchan Shanpon

iEEE e | (22 | @@ EE| @& | ZE
%[osos :Q:Riakabukure g"“ g ' E X g ; 5; =

FEEE avermen | @~ | DH | BH | G

This table only applies if there is at least one head in your hand.

*Irregular 3-sided wait.

Overview of Complex Shapes

110

Acceptance | Ryanmen Rate | Fixing the Head | Unstable Heads
Yonrenkei Great! Good Good Great!
Nakabukure Okay Great! Great! Bad
Aryanmen Good Okay Okay Good

This table only lists three of the many complex shapes.
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@ Yovrenkel

A really strong shape! Might even become a 3-sided wait.

Yonrenkeis at the edge are kinda bad (except for making heads)

mNakabukure

Can’t make kanchans, so this one works well with pinfu (*" w ™)
Also works well with fixing the head, especially when you have

two nakabukures!

@ Aryanmen

Overall a pretty weak shape.

When in doubt, cut the aryanmen!
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Lesson Adjacent Pairs

, are called adjacent pairs.

® e
® @
®
®

Two pairs lined up, as in [%[%

i
At

This hand is close to pinfu, so cut one of [%] or . The resulting
shape can make either a set or a run.

As for which tile to cut first, we should go with [ee] since it has
two suji (— and —), which is usually more dangerous. In a

real game, you could also keep the tile which you think is more
likely to become a set.

(x| le, @ (eeee| § | | (I |HHE BaE
g |8 & BB BRE|IA
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This is like Problem A, but the ryanmen joint has been replaced
with a kanchan joint. Even though cutting [%| or @ gives us the
most acceptance, we should cut [p4) instead since we don't want
to throw away our chance at a tanpin iipeikou.

Cutting [%] and [¢g] yield 16 tiles, while [l and & yield 14 tiles. We
lose two tiles of acceptance, but this is more than made up for

by the points we could get. This kind of problem comes up a lot
In actual games.
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Adjacent pairs at the edge are much, much weaker. Making two
melds with [JE[E[E] is very unlikely, so let's turn it into a three-
tile shape. If we wanted to form an aryanmen with , we'd cut
#1|. If we wanted to go for tanyao, we'd cut . For this hand,
even if we cut |§§] and draw , it's better to take the tenpai than
to keep the aryanmen. If not for the & pair, tanyao would be
secured in this hand, so cut .

e, |8, (ee|e®| | || & BEE|BRE|REE D
i || %| %|eo|oe| i #|1'|31m|1mH|12E|E0E

This hand has a chance at becoming chiitoitsu. Keep the pairs in

your hand intact and cut . Drawing — still puts us in perfect

1-shanten for a meld hand, with a chance at tanpin iipeikou.

D ®

We can think of inner adjacent pairs like [%|% as two ryan-
mens stacked on top of each other. — is a double accep-
tance, but we get a big return if we manage to draw it, so it's
usually better to keep these adjacent pairs over weak joints.

®
®
@
®

X°)

/

X

Point

Think of inner adjacent pairs as two ryanmens.
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Lesson Detached Pairs (1)

8
R
A

X
%| are called

Pairs with a space in between them, as in
detached pairs.

eelee|] |
ool 88 |3lx

R
i

This hand is at 1-shanten with three heads. Let's cut from the

detached pairs £|£|2|2] to make it a three-tile shape. Drawing

for a pinfu riichi is ideal.

It doesn't make much of a difference whether you cut |g] or
first, but according to my simulations, |£| wins out ever so
slightly, probably because of upgrades for tanyao and perfect
1-shanten. In actual games, however, don't just discard whatever
gives you more upgrades; consider the context of the game.

If all you need is a cheap shabo wait riichi hand, start with .
@ |® |eo|ce|ee|] §(F 8| E |bag|BEE
% g @ @ | %|eoe|ce| 281 EHE%M g

If you want a perfect 1-shanten, start with @

N|lXx|Xx ® |® |eo(ee|ee|f §|E. B o
L& il@ ® | %|ee|on| 28|58\ 8|31k |na

i
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Cutting || also keeps your hand open to upgrades to the manzu
even after an upgrade to the souzu head. For example, after
drawing , we can still take the E upgrade if it comes.

® @ |ee|ee|ee |1 [E.E5.0].2. [0
g £@® %loe|cn| 28|11 |55 it |




Prob. B

>

X .1
£%& :

g%e%%gg% B

Cutting either % or |%| puts us at pinfu 1-shanten.

febe 7

== N o= ]
=-=}=-=]
=] =-c ==
(R

Since we have a chance at 7-8-9 sanshoku, let's make our
head. For now, just cut || and make the manzu into a three-tile
shape. If we draw ——@ later, we'll take the riichi. But if we

draw [£] first, we'll drop the |t ifif] joint and go for pinfu sanshoku.

=X X|X | L] ® |© |@e|ee (%e|llE|Ba
|8 | & |8 | &8P 0| eloe| 28|88 150

Instead of making the detached pairs into a three-tile shape,

drop the [Hila| kanchan.

Even though keeping this kanchan and drawing [ immediately
puts us in pinfu tenpai, we should prioritize the upgrades we get

if we draw , , or .

Generally, you should keep the hand open to the g ryanmen
upgrade and start cutting with .

/

Point

Make detached pairs into three-tile shapes.
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Lesson Detached Pairs (2)

88/

®e
®e
® ©
®®
® ®
®®
@®

)

Detached pairs can also come in threes, like

bid
1 B|H55|

If we cut the middle tile , the pinzu accept four kinds of tiles

at 1-shanten: , , and . The best tile to cut from triple
detached pairs is usually the middle tile.

[==N=-2]

[===]
[=-=]=-21=- ]
[===[=-=]=-=]
RN
(=]
=== =em]=ex]
[=-=]==1=-2]

i &

Here, I've replaced the souzu ryanmen joint in Problem A with

a pair. No matter which of the four pairs we cut (, , or ),
our acceptance will be the same.

We could cut |se like in Problem A, but | yields a higher ex-
pected value since it inches the hand inward, and we have a
chance at iipeikou if we draw [%] or [&]



R[x[~[e|e|ecelec|ece|ee| § [ & [FE[ E | E
%)% |4 | @ | @ |oe]es|88(88| 1 |1 111 |HE HE

This is like Problem B, but with the outer parts shifted inward.
Going for iipeikou by cutting 1| still yields the highest expected
value, but in actual games, you may also consider |ee| because:

1. The souzu pair could upgrade to a complex ryanmen.
2. You can call and go for an open tanyao hand.

You have more of a reason to cut |ee| if you're planning to call
anyway. In that case, there's no point in going for iipeikou since

it is a closed yaku.
Some older mahjong strategy books tell us to always cut the
0|00

middle tile from shapes like |8|8 [sejes|i¢|tt) and to leave all the
other joints alone, but I recommend not rushing it.

Sometimes, triple detached pairs is a useful shape. For example,

drawing [s5| gives us |@ |8 [seles|es|t¢|et|. From this shape, we can cut
@
@

for the potential ryankan |@|se[se|ss

Y ee]ee
eoloe|oe|28|28|

I

T,

Point

The best tile to cut from triple detached pairs like |§]|8ee]ee]32[32] is usually the

middle tile, but there's no need to rush it.

a:foe] B:[H C:() 117
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sel  Ryanmenkanchan (1)

eolee
®e 1%

Shapes like [eoles|es32 s/ are called ryanmenkanchans. Just as
the name suggests, this shape is a combination of a ryanmen
and a kanchan. They accept three kinds of tiles, and the one

above accepts E— and @
4 ;: :@: +‘:@Z §§ E § Here's the ryanmen...
> :Z :02 :@: gg +§§ E the kanchan...
S R T e

[ |ee|ee|ecs|ee|eagless| § | § [EiE|EiE
|| |os|os|os| 88|88 c0s T |1 8|t %ggﬂt

Cut @ If we cut , we lose four tiles of acceptance.

| F [EH[HH],
B |8 8[8°8 /8

[==]ees]=en]
[===]=-c]
[=-=]=-]
[=-=1=-c]==]
2212

This one’s a classic WWYD. The trick here is to recognize the
ryanmenkanchan in the souzu and cut || for an acceptance of
19 tiles in 5 kinds. Cutting [i%| only yields 16 tiles in 3 kinds.



Rlx | |ooles|ee|ee eeo| § | § [ § [B~E[BA0
& |4 | & |ooloo|os| 88|88 (% B | I | B|BvED

This is Problem A, but with the head shifted in and no excess tile.

cut[$22]--[% |[ 2| [2][ £ Lﬁ 6 kinds, 19 tiles

5 kinds, 19 tiles

Cut g ---eee 28 gg gg

The tile acceptance for either choice is the same. We must
choose between cutting , which lets us accept |pq] and || for
the tanyao tenpai, and cutting , which secures pinfu with a
ryanmenkanchan.

Go with tanyao instead of pinfu and cut . Calling ron with a
the pinfu hand is 30 fu, and calling tsumo is 20 fu. In contrast,
calling ron with the tanyao hand is 40 fu, and calling tsumo is
30 fu. You can expect more points with the tanyao hand in this
case, and it leaves the option to call open.

Ryanmenkanchans are incredibly easy to miss if you're a begin-
ner, so be careful. Keep your eyes peeled for this shape and take
your time to get used to recognizing them.

/

\\

Point

Memorize the ryanmenkanchan and learn to recognize them in your hand.
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53550" | Ryanmenkanchan (2)

Prob. A [East Player, Turn 111 | | & [ | | |

T AFAENEARARN A
%% | % | % | % | K|oo)c0)an

g0

i 8| A

This problem is from Nikaidou Aki's WWYD Collection (Mynavi
Publishing Corporation). The answer in that book is , but some
people would probably choose |%| instead. What do you think is
the better choice?

cut|Z || E) & | % 88|l 6 kinds, 19 tites
Cut % %’ g % e@e §§ 5 kinds, 19 tiles

Cutting || keeps the opportunity for iipeikou open, which gives
us a shot at a riichi pinfu iipeikou 1-dora hand. However, we
might also end up with a riichi 1-dora hand if we don't get the
right draws.

Cutting [#] gets rid of the potential iipeikou, but ensures that
we'll at the very least have a riichi pinfu 1-dora hand.

Essentially, this is a choice between a guaranteed low-scoring
hand and an unguaranteed high-scoring hand. Both choices’
yield the same acceptance and have their own benefits and
drawbacks, so it's hard to say which is better. But we can com-
pare the two by looking at their expected values.

As it turns out, cutting [&] wins in terms of expected value.
Actually, we could've predicted this because of how the scoring
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system in mahjong works. All scores up to mangan-level are
doubled when you go up by one han, and halved when you go
down by one han. When two choices like this have the same tile
acceptance, it is, on average, better to go with the potentially
higher-scoring choice.

Let me break it down for you. I'll use Problem A as an example.

Cutting [&] - Pinfu is guaranteed. If you riichi and ron someone,
you get at least 5800 points.

Cutting |&| - Under the same win conditions, through maximum
tile acceptance, you have a 4/19 chance (when drawing (%] or
) of losing pinfu for 3900 points, and a 3/19 chance (when
drawing ) of adding iipeikou for 12000 points. The remaining
12/19 chance goes to a pinfu hand for 5800 points.

Compared to the point loss when you lose pinfu, the point gain
when you add iipeikou is much bigger. This makes cutting |%| a
low-risk, high-reward choice.

Even though cutting ] gives us the higher expected value, it is
not always the best choice in actual games. If you're in a situa-
tion where it's too risky to riichi, cutting [&| ensures you'll always
have the pinfu yaku if you go dama. And if you're just trying
to upset the placements and 5800 points is just enough, you
should go with this safer option.

Some rulesets use mangan rounding, so that 30 fu 4 han hands are
counted as mangans instead of 7700 (non-dealer) or 11600 (dealer).

W\

Point

On average, it is better to go with the potentially higher-scoring choice.
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EZSSOH . Ryanmenkanchan (3)

[==12-Sl===]
[====-=]

g | Bl
vt | it

=1
[==]=-z]

1
1 8|5s

We must choose between %] and . At first glance, they look
the same, but think about what happens if we draw .

If we cut[&] and draw 33, we get a [%Jsefee]ec]st[H] ryanmenkanchan
in the pinzu and a shot at 3-4-5 sanshoku.

.0
%@

wle [eelee|ee|ee BEIER
& | %|oclos|oe| 88 ggﬁﬁﬁﬁﬁgggMM

N

Prob. B
=l |eelee|es|ee B 8.8 2 | 2 [B~g|Bad
&4 |4 |oo|os|oe|88 ggﬁﬁﬁﬁﬁggggggMM

Like in Problem A, cut . Drawing [%| gives us a ryanmenkan-
chan in the pinzu. We might also draw , which gives us the

shape [sefecfse]s:]3:[H]; or 57 which lets us make a sanmenchan.

X
® €
[

Both [£] and [H] look hard to use, but their difference becomes
evident once you think about what you might draw next.
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This ryanmenkanchan in the pinzu is squashed against the edge
and only accepts [%and . Even then, drawing one of these first
will give us a pinfu hand, so cutting to maximize pinzu accep-
tance is the conventional move.

In this lesson, we looked at a few easy-to-miss shapes that can
turn into ryanmenkanchans. The one in Problem B can also turn
into a sanmenchan, so it's even more important to keep . It's
no use if you only notice this after you draw !

Learning to look ahead and anticipate draws will help you avoid
furiten and develop your hands faster. When choosing between
two unwanted tiles, always try to look for a reason to keep one
over the other.

Point

Look out for shapes that could become ryanmenkanchans.

Look for reasons to keep one unwanted tile over another.
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;gsson Compound Waits in 7-Tile Shapes
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Here are the most important compound wait shapes, with
their waits in parentheses.

Some compound wait shapes use all four tiles of the same
kind, but those are much rarer.

oloolooloolcs| () E- )
& loolooles|ds (- £3- ()
% |eoloc|ds|88| (8E)-(-&)

%, o|cb|ete)ds (8158 ()-f)-£3)
% |oo]cb|cs|88| (ca- - )
Rt RGED

% |ss s lss| (U @G

b b o 4 b S RGBS
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;zssoﬂ Suji Theory for Compound Waits

If your first reaction to seeing all those compound waits on the
last page was, “There’s no way I'm memorizing all of this,” then,
good news! You don't have to. It's possible to figure out your
compound waits just by understanding their basic principles.

When runs connect with the wait shape, additional waits may be
added. Here are a few examples:

@® Wait Extensions

> @[3)([%) +[%E — @SN )

> (8]%)([@)ee) +Relitfie] — [STnfeeleefie)(@)-Cel-aw))

> (8] ((8) +(8]%fee] — [S]8]%[oe)([8]-(N

> (3] (&) +{ufoelst) — [S[aoled)((3)- )

> (B[22 +Ew — [SleTelnnlm)(e)- 5 i)

> (SIS (3)- ) + il — (S[nleleiealselen(S -2 [

> (S[%e) (8] + Il — (SIelellamm (3] 3

D (S[8]3]%)([@)-[oc): (%)) +{%leeles] — [S]8] 8] %[ hleclet)((@)-(ce) - %) 38))
> (S]S]8]%)([@)-[o)- [%)) +[ofetss

|
o0
o0
®0

“Jolet]38)(@)-[oa)- (&) ()-8

Waits can be extended in a few different ways, but they all have
one thing in common: the added wait is suji to the original wait.
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For waits extensions to occur, the end tile of the run must either
(1) overlap with the end tile of the shape, or (2) touch the end
tile of the shape.

When you've found one wait in a compound wait, check to see
whether or not its suji are also waits.

Keep in mind that runs connected to the wait shape don’t always
extend waits in all cases. Take a look at these next few examples:

@ Cases where runs don’t extend waits

> (8[%)(@)-fec)) +{Ba 15 — (8] /[i[E)([@)-ee))

(The run isn’t even connected here)

> [8]%)([@)ee)) +[fecla] — [S]%[%[oelaEl
> (8] loclef]((8)- (o)) +{ealatlat] — (8]%u[oelonlat|at]sE)((8 -(aE)

@
!2

e
®

®,

In the simplest extensions, ryanmens become sanmenchans,
tankis become double tankis, and double tankis become triple
tankis. That means the most basic shapes with a —— wait
are [%feeleeltz[tt] and |8 %|eslslsz[3|8. But sometimes, you'll find
weird shapes like [%]sejss)es)32[s3[#] that combine ryanmens and
tankis. That's why I don’t recommend thinking about the shapes
in the final wait. It's a lot easier to just remember that suji can
become additional waits when the shape is connected to a run.

It's completely possible to analyze the waits of [%]sese]et]s:]tz]H]
through shapes alone, but it's pretty difficult to do when you're go- s\
ing for hands like chinitsu and you've got other tiles mixed in there.

®
&°

[

/

Point

Suji can become additional waits when your shape is connected to a run.
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Suwwire’s Notes

Cut the tile that will give you the most waits.
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;;550" Entotsu

Entotsu literally means “chimney” in Japanese. We call shapes
like |9]8]8]%Jes| entotsus, possibly because the three duplicate
tiles in the shape seem like they're stacked up. When there’s any
head in the hand with an entotsu, as in |3 |} [} [ S it makes

a seven-tile shape called the entotsu wait.

[=-= Q==

By

bid
1 3|E55 |

Cutting , , and |ee) all yield 16 tiles of acceptance, but only
and |e| bring us closer to a pinfu hand. Which of these two do
you think is better?

Regardless of which tile we cut, we can take a perfect 1-shanten
if we draw an adjunct tile for one of the ryanmen joints. For ex-
ample, if we draw [pg| and cut the remaining tile of the pair, we'll
end up with one of the following hands, depending on which
one we chose.

XN [=]we|lo|0]|© |2 |e® i e
cut| g EIE[8] 88 % el 2 | lsis bkt

ZE ) BB 7 kinds, 23 tiles

=D | |

@ |[= e |e [ee® glalz
Cutlg |'|& &£ @ %@@%HHE%%

(2] &))@ 6 kinds, 20 tiles

£9
(9
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There is no immediate difference in acceptance between the
two choices. It only appears once we draw our next tile.

After we drop the [&| pair, drawing . boosts our acceptance
even more.

Zlw| e(e| (e | (o8| I | I |l
Zlile|le|le|% @eee-ﬁnHMMM|

From this hand, we might even get iipeikou. Our acceptance
Is now at 24 tiles in 8 kinds. As you can see, entotsus are very
handy shapes, so keep them for as long as possible.

~|eeleelecleeles| § |1 | & |.L |34
| |eo|oe|os|os|88| § | | § |5ik|IM

This time, we have a shot at tanyao, but not pinfu. Cutting ﬂ

n n and . all give us the highest acceptance at 16 tiles, but

dropping either of the ryanmen joints [£|%| or [k yields 15

tiles, only one tile less.

Dropping % guarantees tanyao, and if we're lucky, we can

even get sanankou. lipeikou is also possible if we draw the right
pinzu, so I'd say this more than makes up for the one tile loss in
acceptance. All pinzu from ~ will be effective tiles.

W\

Point

Entotsus are very handy shapes, so keep them for as long as possible.

Answers A: . B: H .)
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sag  Potential Iipeikou (1)

Unlike tanyao, iipeikou only involves a portion of the entire
hand. And since it's only one han, it's not something you should
go out of your way to make. We generally favor a good wait
tenpai over iipeikou, and we'll only keep a potential iipeikou if it
can complete naturally.

In the next problems, assume we are not hard-pressed for points.

Cut [33] [] yields 23 tiles, [7] yields 23 tiles, [og] yields 19 tiles, and
yields 19 tiles.

We've already secured two melds and a head in the manzu and
souzu, so we need to make two melds in the pinzu. Prioritize
the good wait over iipeikou and trim the pinzu down into a
sanmenchan. That means we need to cut either || or . We still
want to be able to accept |&)| if it comes, though, so start with .

Cut [ 58] yields 19 tiles, [fl] yields 19 tiles, [&] yields 19 tiles, and
yields 15 tiles.

Here, I've shifted the pinzu shape from Problem A to the edge.



A three-sided wait is impossible now, and we only have the

selgg| ryanmen joint with — acceptance. Cutting &g lets us
accept [§§ for tenpai, and drawing |s§| completes iipeikou.

3+ |[o |eo|es|eseless T | T | T |TE(38|11|L.
£ | % | %loe|co|oe|e| 5 | 5 |7 8| 5E|5E|5E |

cut 1] [1] yields 22 tiles, [ yields 20 tiles, and [}}] yields 19 tiles.

Cut || for the broadest acceptance. If you need points or you
don’t want to riichi, you could also consider .

yields the second broadest acceptance, but it lowers our
chances at pinfu. Prioritize the — ryanmen acceptance over
lipeikou.

Prob. D

3_5 :E_' 0@ ®e @@@

&% | olee|ee

i B|f R[EE

Cut [ [ vields 19 tiles, [#] yields 18 tiles, and [I]] yields 16 tiles.

Here, I've shifted the souzu shape from Problem C to the edge.
Now |ij yields the broadest acceptance, and this choice still lets

us complete iipeikou if we draw . ;

\\

Point

Prioritize pinfu and good wait tenpais over iipeikou.
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e Potential Iipeikou (2)

In this lesson, we'll look at some more potential iipeikou shapes.
Again, assume we're not hard-pressed for points in these next
problems.

Prob. A

R[xxlelee
gdlx|lg|lele|e| %l %

®0| EHH 3igie E%g

Cut [§] [F] yields 24 tiles, [8] yields 19 tiles, [£] yields 18 tiles, and
yields 17 tiles.

Some people try to force iipeikou by cutting . But remember,
tile acceptance is our priority, and |%| yields the most accep-
tance. Notice that if we leave the pinzu alone, all pinzu from

~ will put us in tenpai.

Cutting |@| maximizes our chance of pinfu and iipeikou, but it's
not worth the five tile loss in acceptance. We'd also lose the
acceptance toward tenpai.

Prob. B
= @@ FHE|
A4k ®|® F38|Sas

cut [§] [F] yields 20 tiles, [§] yields 17 tiles, [@] yields 15 tiles, [£]
yields 14 tiles, and [%| yields 14 tiles.

Here, I've shifted the pinzu shape from Problem A to the edge.



Cutting |&| is even better now since it has a higher relative tile
acceptance.

If you get to tenpai by completing the manzu, the typical move
is to riichi with |g| on the three-sided entotsu wait (— and ,
seven tiles of acceptance). Forcing iipeikou by waiting on
instead doesn’t look too bad at first, but since you're already
using one tile of [%| in your hand, you're waiting on only three
tiles. Compared to the seven tiles of the entotsu wait, you lose
four tiles of acceptance and end up with less than half of what
you could've gone with. You also drastically lower your chances
of ippatsu and tsumo. It isn't worth the one additional han.

;XX ® (®|e |8 Hﬂgﬁﬁﬁﬁﬁgﬁ
g N @ ®| o f |T 8|1 1|28 558

Cut @. yields 23 tiles, |£] yields 20 tiles, %] yields 20 tiles, and
yields 16 tiles.

Here, I've made the souzu head in Problem B into a ryanmen
joint. Since the penchan acceptance of [%| is so weak, prioritize
pinfu and the good wait tenpai. Use two-head theory and treat

and |®| as your potential heads.

Cutting |&| is a mistake. Even if you complete iipeikou by draw-
ing , you won't have a head.

As you can see, forcing iipeikou at the edge is risky and doesn’t
benefit us very much. M

Point

Don't force iipeikou at the edge.

a:[E] 8:[f] c:[g]
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el Potential Iipeikou (3)

136

i

Y ~[xle |e |eeleelee ®eg| 1.1
& S iy |3y

e | 06
%| %o|oc|oo|on|88(28|88 (1T

e
[=e=]==s}

Cut [th] [5] yields 21 tiles, [l yields 19 tiles, [l yields 19 tiles, 3]
yields 17 tiles, and |eq] yields 15 tiles.

Cutting yields the broadest acceptance but leads to too
many bad wait tenpais. If we cut || and draw —, we get a
three-sided wait, and most other draws lead to a ryanmen wait.

Prob. B
X |0 ®le|e ee|ee|ee|] I|, k. E
r- i ® | ® | %|oe|os|ce|ts |5 ]| L

Cut @ yields 17 tiles, |@| yields 15 tiles, |} yields 15 tiles, @
yields 15 tiles, and [ yields 13 tiles.

Here, I've shifted the pinzu shape from Problem A to the
edge. The pinzu are a bit difficult to parse, but once you realize

that drawing , , and i lets us wait on —, cutting | is a

no-brainer.

Cutting |ee| Yields the broadest acceptance but, again, leads to
too many bad wait tenpais.

Cutting |e| isn't that bad, but we lose our potential iipeikou and
it lowers our expected value. It's true that you shouldn’t go out
of your way to make iipeikou, but|e|and 1| both yield the same



acceptance. The chance of a ryanmen tenpai when cutting |e| is
53% (8/15) and for || it's 47% (7/15), but this isn't enough to
justify ruining our chance at iipeikou.

A RNEAN Je|e e [ee]ecelee|s B[F 5] E
- % @ |@| %leelos|oe HHH EHH %%ﬁ

Cut (3] (5] yields 17 tiles, [ yields 15 tiles, and [i] yields 13 tiles.

You might be tempted to cut | again, but here we should cut
and let the shapes develop for a bit. Then, if we draw , we
can trim down the pinzu and go for pinfu. If we're lucky and
draw |%| immediately, we can go for a riichi pinfu iipeikou hand.

If the |&| isn't in the problem, though, this is more of a toss-up.

% i g ©\E&

From this hand, there's almost no difference in expected value
between cutting |¢e| and . This is probably because you can
draw |&| to get to tenpai after cutting .

elele [eeleclee|] i1 I
@ |e| %lee|cs|ce HHE H§H§§’

Keep in mind that when you're playing with red fives, some-
times, you can justify a move because of red acceptance or
because you want to keep them in your hand.

I

\\

Point

Get a sense of the balance between keeping and disposing of potential iipeikou.
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el Wings (1): Nine-Tile Shape

® [ e |[eo|es]ee [Ceg|Cas
@ | %| %oloc|ee|88 (83|88 ggﬁﬁﬁﬁ

Cutting [y yields 22 tiles, [%] yields 19 tiles, [f] yields 19 tiles, and
yields 18 tiles.

The shape in the pinzu is symmetric, and it looks like a bird
spreading its wings in an abstract sense, so we call them "wings”.
You can also think of this shape as a |&| with two nakabukures
on either side.

Cutting |yj yields the most acceptance and guarantees pinfu.

“ofocleo|tt|stlo 8|1’y

b (S ]%|+ LB Here's the — acceptance...
(SRl I ] and the [HE) acceptance.

It's hard to catch in-game if you don't know about it, so if you
do, you get points for style!

Cutting [8] yields 19 tiles, [} yields 18 tiles, [58] yields 15 tiles, and
yields 14 tiles.

The wing in the pinzu from Problem A is now at the edge. The
shape is still symmetric, but its acceptance is not. Even so, the
correct answer is still . Drawing |%| gets us to pinfu tenpai.
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Cutting @ yields 19 tiles, yields 18 tiles, and % yields 15 tiles.

Cutting @ has the highest expected value since all of our accep-
tance, including the , gets us to pinfu tenpai. Depending on
what we draw next, we could go for tanyao too.

Don't cut |gg| and try to force iipeikou. Pinfu is also worth one
han and is much easier to get.

Wings aren’t absolutely necessary to master to become a better
mahjong player per se, but mastery of wings is definitely a sign
of a strong mahjong player. At the very least, they'd certainly
find it easier to pick out the %] acceptance in Problems B and C.
Wings are good for practicing complex shapes in general, so it's
useful to know what they accept.

The two hands below are from Problem A, with melds picked out.

e e S R R
H R R R N A e e i

Look familiar? That's right, wings are actually just ryanmenkanchans
in disguise. Hopefully, this helps you see their acceptance even when M /
they're all squashed up against the edge.

Are wings are just fancy ryanmenkanchans?

Point

Study shapes so that you get good at picking out their subtle acceptances.

Answers A: . . .
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Lesson .Wings (2): Eight-Tile Shapel

[Turn 4]

X X[ @ |8 0 00000000 By i
ElE|E| 0| %l leecn|88|88]88 =

Cutting [%] yields 32 tiles, 3] yields 32 tiles, [%] yields 26 tiles, and
yields 26 tiles.

The shape in the pinzu is a wing like the one we saw in the last
lesson, but this time it's made from eight tiles. You can think of
it as two adjacent nakabukures.

Cutting | % or |ss] yields the most acceptance, but if the manzu
completes afterward, we'll have a bad wait. Let's cut |g| or
instead. We'll compare the two by looking at their expected
values and final waits.

Cutting |%| leads to a hand described in Utahime Obaka Miiko
as the super perfect 1-shanten since it always leads to pinfu.
and |gg] turn into unstable heads; either one of them could be
the head of the hand.

Cutting %] fixes the |g| head so that we can use the full accep-
tance of both nakabukures in the pinzu. Pinfu is almost always

guaranteed, and we have a shot at iipeikou if we draw — or
—, so this choice has the higher expected value.

Both of these choices lead to very good 1-shantens, but cutting
is better if you need more points. In actual games, you can
justify cutting |%| instead if riichi'ing is risky or if the manzu has
dora acceptance.
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Here I've made the |g§| from Problem A into a . Since this shape
is so similar to a wing, it's worth learning.

The |§8]s5] ryanmen is now a |§§|#f] kanchan, so cutting [&] is now
the best move.

N ® | © (@, |©0|00|00) 00 ®|ele |oc|eo|os]ees
| @] @ | “o|es|se|en 88 I@® @ | “|es|oe|co) 88

The left shape is the wing from Problem A shifted to the edge,
and the right shape is the one from Problem B shifted to the
edge. Just like the nine-tile wing, both of these have a subtle
acceptance. It's easy to miss, so be careful.

Utahime Obaka Miiko

One of Masayuki Katayama’'s most popular series.
Although it's just a mahjong manga, you can learn
a surprising amount of strategy just by reading it.

It's a really funny series, and I strongly recommend
it to beginning and intermediate players.

Practice WWYD problems to prepare for similar situations that show up in-game.

a:[%] B:[§] 141
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Chapter 5

Finding Waits

Questions like,

“List the kinds of tiles that will get you to tenpai,” and,
“Find the waits of this closed chinitsu hand,”
show up in real mahjong pro examinations.

In this chapter, we’ll learn how to solve them.
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Lesson Knowing Your Acceptance (1)

The pro test hosted by the Japan Professional Mahjong League
often contains problems that ask you to find the tiles that will
get you to tenpai. In this lesson, I'll teach you how to best ap-
proach these.

The next few problems have 13-tile hands. Go ahead and try to
solve them.

How many tiles, and in which kinds, get this hand to tenpai?

i’i’ﬂ?%_’kg\;\f&@@@@@@@ggﬁgﬁ
i€ |E|&|8|a|E|E|%|eeoe| 88881k

The trick to solving these kinds of problems is to break them
up into parts. First, try finding all of the tile kinds that will get
you to tenpai: the which kinds part of the question. We have to
account for the hand’s entire acceptance, including the tiles that
will make bad waits like kanchans, penchans, and tankis. Since
this hand is at a sticky 1-shanten, all tile kinds within two spaces
of (~) are part of our acceptance. Don't forget about the
tanki wait through , and the kanchan wait through .

Once you know the number of tile kinds in your acceptance,
multiply it by 4. Then subtract the number of tiles of those kinds
you're using in your hand to find the number of effective tiles.

wo: R HEREERE oo

Kinds used in hand: %’ §§ gg @ 4 kinds, 5 tiles




Doing the math, we get: (11 x 4) - 5 = 39.

The answer is 39 tiles in 11 kinds.

Notice that this hand is also 1-shanten for chiitoitsu. The pinzu

from ~ and the souzu from ~ all get our hand to tenpai,
so we have a total of 8 kinds of effective tiles.

We are using 7 of those tiles in our hand.

(8 x 4) - 7 = 25. The answer is 25 tiles in 8 kinds.

How many tiles, and in which kinds, get this hand to tenpai?

®®1£E£¢k,\m®®00%§§
rAEENEAESESESE LD

Ak

The manzu from ~ and the pinzu from ~ all get us to
tenpai; we have a total of 14 kinds of effective tiles.

Doing the calculation seems hard at first, but notice that all the
tiles in this hand are effective tiles. We can just subtract all 13 of
these tiles.

(14 x 4) - 13 = 43. The answer is 43 tiles in 14 kinds.

I

A\

Point

Number of effective tiles = (Tile Kinds x 4) - Tiles used in hand.

For sticky 1-shantens, all tile kinds within two spaces of floating tiles get you to tenpai.

. 11 kinds, . 8 kinds, . 14 kinds,
Ai39tiles BPostiles Clastiles 145
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=l Knowing Your Acceptance (2)

The last lesson concerned tile acceptance from 13-tile hands. In
actual games, you'll also need to know what to cut from 14-tile
hands too.

A
i
'y
a

When gauging our acceptance, we count effective tiles toward
tenpai as if they're equally practical, but in actual games, this is
not the case. There are multiple metrics, like good wait tenpai
rate, to each of our three choices in this problem , , and )
that don't correspond to total acceptance.

In the following tables, I only consider ryanmens and compound
waits to be good waits. Penchans, kanchans, tankis, and shabos
are bad waits.

o). S]]~ ®|09(%g( §
Cut Z@.ggggﬁ ﬁﬁﬁ%&ggg i

Total Acceptance @ @ @ @

2S04
[==0=-21

11 kinds, 39 tiles

Good Wait 58 3 kinds, 12 tiles
Bad Wait 8 kinds, 27 tiles
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Total Acceptance

HHRX

EHLH

2]

i

10 kinds, 33 tiles

Good Wait 5 kinds, 18 tiles
Bad Wait 5 kinds, 15 tiles
g |.|oo|wp| 3 A x[x|e [ee|es|es|ds
CUt| i ’ r 4 qF g[g[i[ﬁ %' es[ae|ee|e°e|88

Total Acceptance

w|(@]le |[ee][ee
HHA &k

iEHE

9 kinds, 29 tiles

Good Wait :@: 5 kinds, 18 tiles
Bad Wait 4 kinds, 11 tiles

Let's put all of this information together.

Total Acceptance Good Wait Bad Wait Good Wait Rate
Cut 11 kinds, 39 tiles | 3 kinds, 12tiles | 8 kinds, 27 tiles 31%
Cut 10 kinds, 33 tiles | 5 kinds, 18 tiles 5 kinds, 15 tiles 55%
Cut 9 kinds, 29 tiles 5 kinds, 18 tiles 4 kinds, 11 tiles 62%

In terms of total tile acceptance, is the best choice by far,
but it has a terrible good wait tenpai rate. The correct answer is
, which balances total acceptance and maintains a high good
wait tenpai rate. Total tile acceptance is just one metric that
counts toward a larger pool of considerations.

Point

Balance good wait tenpai rate with total tile acceptance when choosing a tile to cut.
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Lesson Knowing Your Acceptance (3)

In the last lesson, you learned that total tile acceptance is just
one metric and that there are other ones you need to consider
when counting your acceptance. When bad waits are impossi-
ble, however, total tile acceptance and good wait acceptance
become the same metric.

Compare these next examples with the acceptance of perfect
1-shantens (16 kinds, 20 tiles).

—|=[= A ® | ® | 2@ |%eg(®e| 1 § |, E| 6 kinds
&% |E €| 5| 8] © |58 s5]e8] 15 20 rios
Perfect 1-shanten. These hands have two ryanmens and two
heads, and it's helpful to think of them as the standard for

1-shanten hands. Its acceptance adds up to a nice, round 20
tiles.

— ==X |50 |99 |%e| i | |1 4 kinds
4|k |% || %€ e | e |e8]ef] 117t 16t
In this case, we've lost the shanpon acceptance in Case A, and
we're left with the two ryanmens. Accordingly, this type of

1-shanten is called the ryanmen-ryanmen 1-shanten, and it has
four fewer tiles than the perfect 1-shanten.

When you forego the perfect 1-shanten to keep a safe tile like
this, we call it "going slim”.



==X (%[ @ [ee|%es|®e| T 1|5.5] 5 kinds
AR R 16 tiles

This hand has potential bad waits, but it has no excess tiles. For
each of the two ryanmens from a perfect 1-shanten that we
replace with a weak shape, we lose four tiles of acceptance. And
if we replaced [#] or ] in this hand with a safe tile, we'd lose four
more tiles of acceptance and only have 12 tiles of acceptance.

Some people still use the term “perfect 1-shanten” to describe
hands like this, but I think there’s a distinction to be made here.

EANEIE I R 818 88[8.8 6 kinds
£|21%]8) 8|88 eelse1 2] & |i'slanleta) 10 tles
This is also a perfect 1-shanten, but we have a one tile loss in

acceptance since one of the ryanmens is connected to a meld
at the edge.

In general, the narrower your acceptance, the more each tile of
acceptance counts. That's why many prefer to pass up on safe
tiles when their acceptance is low. The problem is that you're
more likely to fall behind your opponents when your accep-
tance is low in the first place, which makes it more important to
gather safe tiles.

Consider factors like your expected value and how far it is into
the game to decide whether you should keep safe tiles or max-
imize acceptance. You'll get a feel for your own style e
of mahjong once you've played more games. p

Point

Count acceptance at 1-shanten with perfect 1-shanten (20 tiles) as the standard.

The narrower your acceptance, the more each tile of acceptance counts.

149



Lesson
66

150

Knowing Your Acceptance (4)

Knowing the difference in tile acceptance between your choices
is incredibly useful.

Comparison of Floating Tiles

Effective Tiles

Difference (vs. ~

()~{aw

5 kinds, 19 tiles

: 4 kinds, 15 tiles -4 tiles
@) =] 3 kinds, 11 tiles 8 tiles

All tiles kinds within two spaces of floating tiles are effective in sticky 1-shanten. Thus,
the closer the tile is to the edge, the less acceptance it has.

[Case A I

—

8

—
==

i

D

8

3T X[

e SE 9E

i

BEE
% gg § BEE

® g 8)|zg

Floating Tiles: Since the sticky acceptance of floating tiles
decreases by four when they’re one space closer to the edge,
cutting [t yields four more tiles of acceptance compared to cut-
ting , and eight more tiles compared to cutting .

| Case B I
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Suji Tiles: [pq] IS suji to , so cutting [p) Yields eight more tiles of
acceptance compared to cutting .
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Suji Tiles: Just like in Case B, the 4] is suji to , so cutting [pq) still
yields eight more tiles of acceptance compared to cutting .

Even though the suji tile is stuck to a run, the difference between |g5 and @ is still eight
tiles. As a general rule, suji tiles overlap eight effective tiles.

==& x| X |\ [eo]oe |%eg| 22 (1,1 [REE], 2, |Bad
case 0 I EREEAEA PRSIt |
Head Interference: Cutting || yields four more tiles of accep-
tance compared to cutting |se| OF .

Not only does || have overlapping acceptance, but it might also lead to a bad wait.

Z|lw|k|lXx | @ |e (o0]|ee(®g| § | § | I |IaE|EAE
case E IR H R FIHESEEHE
Nlx

Double Acceptance: Dropping |£|%| yields four more tiles of
acceptance compared to dropping |ss|ss|.

T EES ® e g[8 [B8].2,[B~H[EE
case F IMEBIECHRL I IHHE =

Three Heads: Cutting g yields two more tiles of acceptance
compared to cutting E

Galalss]

W\

Point

The closer the floating tile is to the edge, the less sticky acceptance it has.

As a general rule, suji tiles overlap eight effective tiles.
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Lesson| Picking Out Melds (1)

Zlwlx| N0 0|0 @ (oofif|. E (il
ZlElglE &l e e|e| % %leoinnii M

e |ee[eo|ll]

These two problems are almost identical, but they have differ-
ent answers. We can see that the pinzu differ between the two
hands, but how do we even begin to solve these problems?

When we have messy shapes like these, we can use a technique

called picking out melds. Gather |@|%|ee| and separate it from
the hand.

=Z|lw x| [N ®|®|e |35 E |IAd ® |® |e®
Prob. A || 1% (% %] e | @ | %|mEE | T| @ | %|ee
@. ®e

After picking out |@|%|es, We're left with the complex ryanmen

|8|%| in the pinzu. We'll have to cut something from either this

®|®
shape, or the other complex ryanmen |2

The two complex ryanmens are almost exactly the same, except
6|@|%)| is connected to a run. When this happens, it makes the
shape stronger. Our pinzu have an additional — acceptance

because of this.

by

We're better off fixing the head of [£|&|&] so cutting [£] is the
correct answer.




=[w[x[~~[e|e e[ [e]e e
Prob.B | | & |&|& || @ | |ee|miliEnlT| @ %lee
®|® |ee

In this problem, we have the complex kanchan |@|e [se| after pick-
ing out the meld. Again, we'll have to cut something from either

X ||

this shape or [&|&|&]|

This time, we're comparing a ryanmen and a kanchan. The cor-
rect answer is to leave the adjunct tile in the complex ryanmen

and cut .

Picking out your melds can help you solve problems with even
the most complicated shapes quickly.

= o=~ elelele [eelee|ee st
ZlE|&ElE & oo %leeleson88|88

AN O | ® |00 @ |® |ee|, [e0]|ee %y
4)E|E|E|K)|0)|® oo | @] %|es| |0 8888
Once we pick out two melds like above, we're left with two com-
plex kanchans. Since they're almost the same, we'll just keep the
one that can make iipeikou, so the correct answer is .

You could also pick out a meld like in below.

3218, |20|ee(ee ®

‘gﬁ &€& Qeeeeeee§§§§+[® H

T

fEh )\

Point

Pick out your melds and compare the shapes you end up with.

a:lE] B:d o] 15
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i i

We'll solve this one by picking out melds. Which meld would
you pick out, and what would you cut?

X| | |® |®© |o0|c0(@®| § | § |BE
&\ & |E| %] %lec|os|os] I HEHH+

oe[ee|ee
oo|oe| 88

If we pick out [sefes|gs) it's obvious our best choice is to cut |&] for
the tanpin tenpai with a chance at iipeikou.

This problem isn’t that hard, but lots of people still get it wrong.
Our brains seek patterns, so it's easy to pick out the wrong melds
just because they line up nicely.

Y~ |eelee| 1 [ I [11],[e | [eo(ce|ce[ece
|5 |5 |ee|28] 1 |1 522 T| %/ %lee|ee|ceee

If you're not used to picking out melds yet, you might've tried
something like this, fixing the |%|%|esjesjdslss] as an iipeikou. As
long as you realized and fixed your mistake after seeing the
kanchan left over, it's no big deal. If this were a more complex
shape, though, you'd need to be more careful about not wast-

ing time.




Now, what would happen if we picked out [%|eelec|ee|ee|tt| OF
*| %Jos]selss| iNstead?

x| x|le |ee| 8| [38), (e |[eo|ee|ee|ee|ee
| |K| %ee| 1 |1 11T %l|ec|os|cs|sn| 88

N < |ecleelee| F | & (28], [ [@ [eo]eo|es
g % |ooloe|88| & |1 11ET| %| %l|ec|ee]es

These shapes work just as well for leading us to the correct
answer, . The key to finding the best shapes to pick out is to
push back against our brain’s bias toward iipeikou and recog-
nize that the staggered melds work better in this hand. This is
an extremely common pattern that players tend to trip up over,
so knowing about it can put you a notch above your opponents.

The human brain is pretty weird. Ever seen this copypasta? It went
viral on the Internet way back in the day.

Aoccdrnig to rscheearch at Cmabrigde
uinervtisy, it deosn’t mttaer waht oredr the Itteers in a wrod are, the
olny iprmoetnt tihng is taht the frist and Isat Itteres are at the rghit
pclae. The rset can be a tatol mses and you can sitll raed it wouthit a
porbelm. Tihs is bcuseae we do not raed ervey lteter by it slef but
the wrod as a wlohe.

W\

Point

Try picking out staggered melds instead of iipeikou if you're having trouble with a shape.
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Lesson Closed Chinitsu Waits (1)

Picking out melds is the most fundamental technique we use
when looking for closed chinitsu waits.

A winning mahjong hand has four melds and one head, so at
tenpai, you'll always have either (1) four melds and a tanki wait,
or (2) three melds, a head, and a joint.

Just by picking out two melds from your 13-tile hand, you can
make it easier to find waits by narrowing your hand down to
a more manageable (1) two melds and a tanki wait, or (2) one
meld, one head, and a joint.

Let's try an example. What are the waits of this 13-tile hand?

Find this hand'’s waits.

AR EMREEE R
g 8|58|88| 08 |0 onn|nen|nn|Eek (pa B0

Start by picking out two melds at the edges of the hand.

R AEAMEAIE
1g|aE|88 |8 MHBM&FL% i §§l+§§§M§ ]

After picking out two melds, we're left with [} EE Rt[eeEiied 1

you recall from the seven-tile shape list, this is a five-sided wait
on , , , , and . Even if you haven't remembered all of
the shapes on that page, you should be able to figure out its
waits by picking melds out from this shape in a few different
ways.




Find this hand's waits.

® |eeles®

®® @ @®0 §§§%§§§g gg %g %

Again, pick out two melds from the edges of this hand. You
might be tempted to pick one meld from each edge, but
could become a head, so let’s leave the right edge alone. We'll
take two melds from the left edge of the hand instead. Notice
that we've kept the potential closed sets intact.

A HEHE- el C

After picking out two melds, we're left with [s3[s3[s2|88|8E|EE[S. This
is a three-sided wait on , , and .

If you've committed the seven-tile shapes to memory, finding
closed chinitsu waits is just a matter of picking out the right
melds. You can get by with picking out even more melds until
you're left with simple waits, but memorizing seven-tile shapes
will significantly speed up the process. Try to learn as many as
you can!

W\

Point

Pick out two melds from a 13-tile chinitsu hand, and you get a seven-tile shape.
Pick melds from the edges of the hand, but not when it could make a head.

If you've committed the seven-tile shapes to memory, finding closed chinitsu
waits is just a matter of picking out the right melds.

a:(s'y (1) (d)- () sl wait B: (53] (B] (] weit 157
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Lesson Closed Chinitsu Waits (2)

Find this hand'’s waits.

BE R
f 8|88 508 |nne|ann|EaE
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T ) () A A 1T, [N
ME%HMH%E%E%%E%EJF% 1 |8 8|7 |avE|BvE| A

If we pick out two melds from both edges, we're left with the
seven-tile shape [ji|ijiblilmliziizl This is a four-sided wait on
H— and @—.

T0 T T ARNEEE
T §§MMM+%H§+M§EM%

3
BE|REE|B
B 38| 8

If we pick out two melds from only the left edge, we're left with
the seven-tile shape |k %] This is a four-sided wait on
—, , and .

Putting all of this together, we get a five sided wait on —,
—, and . In this case, we had to pick out melds twice to find

all of the waits.

To avoid missing waits when you're picking out melds, check to
see if there is a key tile. The key tile in this problem is . It can
be seen as both a tanki wait and part of a meld; thus, we call it
"key” to the compound wait. When the key tile is connected to a
completed meld, the wait can be extended, and other waits can
arise as a result. In most cases, these are the suji to a key tile.



Find this hand's waits.

e [oo|eo]ee [tes|teg|®as| 28 [eco[ecce|ece
loo|oe|88)|88(88| 88 gg%%%

00 |00| 00 |%g|%g|%g ® |® 200 | 200 |e3®
ooloe|88)88|88|88 §§+@ ® | %| T |o00|o00) 000

@gp|[Cag|®eg oo |ess|cse e e oeles|ee]
25|55 85|08 || o]+ B S ||+ |oo|cio] 88

The key tile is [} so let's pick out melds in two different ways:
once from each edge, and twice from the left edge. If we put the
waits we get from both shapes together, we get a five sided wait

on -—, , and .

can be seen as either a tanki, or a part of two different melds
s2|s2|88| and [s2|#E|E2). As long as you account for all three of these
configurations, you won't miss any waits.

The most common method that's taught for dealing with closed
chinitsu waits is to pick out closed sets first and foremost. My
approach is to identify key tiles and then to pick out melds so
that it's left in the seven-tile shape. This means we'll usually be
picking out runs first, before we pick out any sets.

Point

Check if your waits are extended from the key tile, or if there are other hidden waits.
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=4l Closed Chinitsu Waits (3)

Some shapes at tenpai only have one possible configuration.

ey ey enlen| 1 | 1 |58(00] L, (AR TR (EEE I
#alaralans| 7 |7 p|p'p|7en|Rek g RiE|R00 E0E

Consider the four [&| in this hand. The [#|%|%/%)} |} shape can

only be split into [#|&[%|+&| ! [;4 and nothing else.

=3 e

ea| f |E &

0 e R P
1o |pnn|Bak v Ei

If we pick out these two melds, we get a seven-tile shape with

waits on — and —.

MESIBEY Find this hand's waits.

-

Ltttz Z|Z|E R EE|E T

N

This one is obvious once you see the right edge. The [&|Z| can
only be used as a penchan joint. This is a penchan wait on .




Find this hand’s waits.

HHBRRARSEIE!

This one looks like the penchan case in Problem B, but since the
joint overlaps with a run, |§§] can actually be used as the head.

If we think of as the head, we have a penchan wait on . If we
think of [%| as a meld, we have a tanki wait on . Thus, this hand

Is waiting on [gg| and .

As you can see, it's always helpful to keep track of the head,
even if you think you can find its waits at a glance.

It's especially easy to miss waits on tiles when you're already
using two or three of them, so be careful. Also, if you're using
four of a tile kind in your hand, be on the lookout for waits suji
to that kind.

Simply put, terminals can only be present in a winning hand
in three configurations: as the head (®|®)), a set d@@@), or a
run (®|8]|%]). On the other hand, inner tiles like " have more
possible conf|gurat|ons because it can appear in three different
positions in a run (&[4 il and [iliifH) in addition to
being a head or a set, which gives it five total configurations.
For this reason, it's more helpful to pick out melds that have
tiles with the most limited configurations before you move on

to tiles with more versatility.

W\

Point

Pay attention to tiles with limited configurations when looking for waits.

Answers A: .n n. B: C:'
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T2 Closed Chinitsu Waits (4)

Shapes with potential iipeikou can make finding closed chinitsu
waits much more difficult.

Prob. A Find this hand'’s waits.

g8 (28|80 |208 BEE BEE( 2, (.2, |BAE|BAR|BEE(REE
§ | # | 88|55 200 o0n amn 00 0E | nva v BEE B
ARBE R AR R
# | 3 |88)|r's|ees)nn|enn) | BRE\BEE (v vl 2R B2

Picking out the right edge iipeikou lets us see a , — wait.

AR ME N AR T
g | 8 |58|ets|amnEiE 5eE )T nun|nnn) B0 B2 vt

Picking out the [t iipeikou lets us see a (1] [lil] shabo wait.

Il | Bl

AR T[T
] 8 ]G AR

ik EEH 18181
3181918131 I b

81311

Picking out the JIJHJI meld lets us see a [ 1], [H-H] wait.
Altogether, we get a four sided wait on |j | and ——.

Once you've tried picking out melds one way, try to be mindful
of other waits you might be missing. If you were to only pick out
the right edge iipeikou, you'd miss the wait on .

162



Prob. B Find this hand's waits.

PR AENEN A PE RS RNEAER
Lttt 2 L L EEEE
TE R EEEE gl g2 %
et 2| g 2|2 HEIEEEEE

This is also a closed chinitsu hand with potential iipeikou. It has

a six-sided wait on , , , , , and .

FlE1B|8|8|308|838| [eo|ee|ee|ec|ee|ece|ee
8| 8|8 |238838[38 |ee|ee|oe|oe|en|8B |88

The two seven-tile shapes above both have compound waits
with a shabo.

Take note that shapes with potential iipeikou can have a shabo
wait hidden in them.

/

M

Point

Sometimes, shapes with potential iipeikou can extend waits or make a shabo.

R AU e E (E
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Suwmure’s Notes

@ -HOVV\@WOH( Find the waits.

Prob. A
tlz|Z|EEEEE £ % 5%

solit|sss3) 6 H12
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Tips For Finding Closed Chinitsu Waits

1. Try to find the key tile (it's usually a potential head).

2. Pick out melds at the edge.

3. Look for seven-tile shapes (and memorize as many as you can).
4. Pick out iipeikou (or other similar shapes) first.

5. Check the suji of your waits to see if your waits are extended.

How do wait extensions work?

o [colos[es|ee ey oF :

@ leelcS|S 8888 gg is the key tile.

e [ec[eelee|  [ee]eey o
@ loelcs|S (82|88 gg The run connects to the aryanmen .
000 :: :ez + :@: §§ E gg The run overlaps with the nobetan .

Even though it's a three-sided wait, this shape waits on nine tiles max.

a@d @ e e EE
i o:EEE eeIE e
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WHEN THAT
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Chapter 6

Techniques

Next, we'll learn about a few techniques. A book on tile
efficiency wouldn’t be complete without these!




Lesson 1 1
S AR Scrimping

To scrimp (jp: ukaseuchi) is to cut a tile from a pair and keep the
other tile to use as a sticky floating tile.

[=-=N=-=]
=]

[=e=[=ex [
]

R
[=e=]=en]=es]
[ jeen] e

Scrimp and revert from tenpai.

Cutting from the pinzu can get us to tenpai, but it's generally
better to scrimp the |%| and go for ittsuu or sanshoku. Depend-
ing on the situation, you might instead opt to take the tenpai or

even riichi.

An 1-shanten hand. We have a block surplus, so scrimp the .

If one of the souzu ryanmens completes immediately, riichi with
the second . If you make progress toward ittsuu instead, you
can consider dropping a souzu ryanmen joint.
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An 1-shanten hand with three heads. Scrimping the |@| is incor-
rect. This is an example of when you shouldn’t scrimp.

The correct answer is 8] not to scrimp, but to drop the pair.

If we draw |@] afterward, we'll be at 1-shanten with a potential
ittsuu.

= @ | ® [°0|eo|es|eag|82]eo0] § |11
&|& ® |oc|oo| 88|88 gg eoo|l B|BE

Drawing [%| gives us a perfect 1-shanten with potential ittsuu.

rxe|e|e [co|ee|ee o8 ece] § |11
L lE|e|e| %leec|ce]88|88 gggﬁﬁﬁﬁ

With this hand, even if one of our heads becomes a set, we can
take a tanyao tenpai.

Remember: when you've only got one head, keep it separate
from your yaku. When you've got multiple heads, use them to
help build your yaku.

In Problems A and B, we could only afford to keep one head,
so we kept the head that was isolated from our yaku shapes. In
Problem C, we'd still have two heads even if we dropped one,
so we can instead drop the one that was most isolated from our
yaku. SR

Point

Scrimping is when you cut a tile from a pair and keep the other one in your hand.

169



74

170

Lesson Prospective Upgrades (1)

e [eelee(ee|ee| § | I |1iE
oloo|oe| 28|82 |1 1|1 #8515

[==]=-c1==]
R

feey
®

The typical move, in this case, is to cut . Just like || or , it
yields the broadest acceptance at 16 tiles in 4 kinds. If you draw
or |g] to make a sanmenchan afterward, look at the discards
and drop the weaker ryanmen.

If we need points, cutting |jj| to go for 3-4-5 sanshoku doesn't
look like such a bad move, but we won't get the yaku unless we
draw the exact three tiles , and . A riichi tanpin sanshoku
hand is a big return, but then again, we'd have to draw || first
above all else. Otherwise, there's not much of a point in going
for it. Drawing %] first won't put us into a sanshoku tenpai, and
we're better off taking the riichi instead. Drawing |y first gives
us a kanchan, which isn’t worth dropping the ryanmen to keep.
Since we have to draw the tiles in a particular order, the success
rate of this kind of upgrade is very low. You shouldn't really
consider cutting , especially when playing with red fives.

That being said, we do have a third option: cutting . This move
yields 12 tiles in 4 kinds, which is four tiles less of acceptance,
but if we get a tile to stick to |gs] or , our acceptance could
increase, and we might get a better 1-shanten.



=|w|e |ee|ee(es|ea| § | T |55 55E].L. [5~8
%) %|eoloe|28|28 |5 1|z 1|71 |50E|30E 0

For example, drawing E gives us a perfect 1-shanten (20 tiles in
6 kinds). Cutting |%| from the get-go with this hand in mind is a
sound move.

Prioritizing immediate acceptance in Problem A by cutting |sg| is
fine for our purposes, but in actual games, it's sometimes better
to go for the prospective upgrade. Being able to consider and
adapt to the situation is good practice and a sign of a strong
mahjong player.

When you have to choose between immediate acceptance and
prospective upgrades, you should think about how easy it is
to get the upgrade and how much safety you'll have. But what
ultimately matters the most is how many more points the
upgrade will give you. If the prospective upgrade guarantees
two more han, you should generally go for it.

Providing an exact measure for considering prospective upgrades is
difficult. For example, an upgrade from sanankou to suuankou gives
a hand huge value, but that isn't to say it's always worth going for.
The more value a prospective upgrade gives, the harder it usually is
to attain.

Also, there aren’t very many ways to simulate hand progressions from
tenpai, like breaking tenpai for upgrades or changing waits. More <\J
research about this needs to be done.

Point

Prioritizing immediate acceptance is, in theory, most efficient.

But in practice, you should also consider prospective upgrades.

Answers A:
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Lesson Prospective Upgrades (2)

B B8

B8
i BEH

£|358|3

=-=Q=-=]

[==]=-c1==]
R

This problem is similar to the one from the last lesson. Take a
moment and think about what you would cut.

Cutting [sg] or [f would work well. But we have a third option that
works better: cutting .

Since the |} [{'} ryanmen joint is only separated from the [ pair

by one space, we can cut , and |j3 won't become an excess tile.
Instead, it acts like an adjunct tile for the || pair. Because of this,
cutting | | yields the same amount of tile acceptance as cutting

or il does; 16 tiles.

Since this choice doesn’t lose us any acceptance and keeps the
potential for upgrades to the pinzu, our third option decidedly
wins out this time. In the last lesson, it didn't make much of a
difference whether we went for the prospective upgrade or not,
but this time, we'd be losing out on a chance to increase our
acceptance.

Hands with hidden “third options” often have a nice balance of
suits, so this method of play often lets you take advantage of
sanshoku chances. Modern mahjong theory maintains that you
shouldn’t go for sanshoku too aggressively, but you shouldn't
let these opportunities escape you when sanshoku could other-
wise complete naturally.
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We have a chance at 5-6-7 or 6-7-8 sanshoku, but the correct
answer is still to cut ,just like in Problem A.

Cutting [s§| to push for sanshoku doesn’t do much for us here
since 6-7-8 sanshoku can still turn up naturally even if we cut .

Cutting | § | also maximizes our chance at tanyao.

B8 BHE HHE | o
B8 |28 |BEE )8

A

& |56 853|488

[=-=N=-=]
(== =-=]
[==N=-5]
[=-=N=-2]
[===1=-=1==5]
====-0]
e
[2rs]=e=]=en]
===}

In this case, cutting |§§| keeps the hand open to both 5-6-7 and
6-7-8 sanshoku, so this move has the highest expected value.

Compared to |§§ (4 kinds, 15 tiles), cutting |j3] or |j§} yields four
more tiles of acceptance (6 kinds, 19 tiles). But the value that
sanshoku returns if we manage to build it into our hand is worth

much more than this increase in acceptance.
I

R

Point

Ryanmen joints separated from pairs by one space won't make an excess tile if
you cut the tile furthest away from the pair.

Hands with hidden third options often let you take advantage of sanshoku chances.

a:[3] &:[3] c:[f
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2t When in Doubt, Fix the Ryanmen

=[=[w]ee B |8.8(8B|B88) B (B | B |§~d
4|4 (& (88g8 ggﬁﬁﬁﬁﬁ 1'p|ppn| Bk BaE |08 g

At first glance, |yj| looks unnecessary in this hand, but it actually
lends a |33 acceptance. Given enough time, many players could
probably figure out when to cut , but it's pretty hard to make
such a judgment within the limited amount of time that online
mahjong clients give you to choose a tile. And in actual games,
it's embarassing to make your opponents wait!

When you're faced with a difficult hand, fixing the ryanmen is
usually your safest bet.

As long as you remember to fix ryanmens like this, you'll be
able to avoid making most huge blunders. It's kind of like if you
chose to go with an answer that probably won't get you full
points but will easily get you at least partial credit.

Ryanmens are strong joints that only use two tiles, and they're
rarely "bad” as a wait. If we cut |£] from Problem A and draw
later, it hurts a little to miss out on the closed set. But now, if
— turns out to be our final wait, having two |£] in our discards
makes |%| easier to win off of (due to the sakigiri effect).

Now let’s solve this problem with a more logical approach.

) [e0]%ee R I ) A R A
& +‘88|88|§§Mﬁ 8|88 |13 +‘EHE‘§§§‘§§§‘§§§‘M\

gk )\
g\




We get three heads if we split our hand like this, so we should
cut |&| to maintain our blocks and reduce the hand'’s heads to
two. The main idea is to see |g3 as an adjunct tile for the [ pair.

(%
XNl @0 |o0o/ee|(co|ee| § | § |FEE| B |BAE
Lld|E|e| %lesles|28|88| 1 | 1 |351|EEE

This hand is at 1-shanten and has three heads. We have a chance
at a mangan if we can pon |j|later, but that's not guaranteed to
happen. To prepare the hand for a || pon, we'd want to keep
and secure tanyao. Cutting |ee] instead is otherwise our best
choice for open tanyao, but it removes |&| acceptance toward
tenpai. In any case, all of our options have drawbacks, so it's
hard to make a choice.

Remember: “when in doubt, fix the ryanmen.” Cut [§]. If there's
no clear potential benefit to any of your options, you should
typically choose the one that allows you the most acceptance in
a closed scenario. Even without a dora set, the hand could get a
lot of value with other possible yaku like riichi, or uradora han.
Cutting [g| also has the benefit of contributing to the sakigiri
effect if we get to riichi early.

W\

Point

Raise your speed of play by remembering: “when in doubt, fix the ryanmen.”

Typically, you should choose the option that yields the most closed acceptance.
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2l When in Doubt, Cut the Aryanmen

e e N E N
EAEAE AR AP AP S CE T R8I0 |H 0800
E|E &£ |E|E|en|88 38%&&&&&%%&

Cutting yields 45 tiles in 14 kinds, yields 42 tiles in 13 kinds,
yields 37 tiles in 12 kinds, and |&] yields 18 tiles in 8 kinds.
Note that one || is being used as the dora indicator.

The correct answer is to cut [jg from the aryanmen. According
to our mahjong simulator, this choice wins out in tenpai rate,
win rate, and expected value. It also leads to a high good shape
tenpai rate. We don't consider , because we want to maximize
our chances at sanshoku.

I've gone over this idea that cutting aryanmens is almost always
correct in Aryanmen (1), but it's so applicable in actual games
that I'm going over it a second time here.

If you didn't get the problem right, I suggest you reread the les-
sons Aryanmen (1) and Yonrenkei (2).

For those of you who chose , take note: this choice wins out in
pure tile acceptance, but drawing , , and | gives us a kan-
chan wait; and — and [ give us a shanpon wait. It leads to
too high of a bad wait rate, so |jj is the better option.

If you're planning on calling, you might be tempted to keep
because it's an inner tile. But on the contrary, cutting |§§| could
make it harder to chii tiles like |} into a ryanmen wait since
you'll only be able to call inner tiles.



Cutting |£|instead means that, realistically, you can only call g in
the souzu. Chii'ing |se] doesn’'t guarantee a mangan, and chii'ing
leads to a one-sided wait, so only |sg] would be a decent tile
to call in the pinzu. With such poor calling tiles, it's better to
prioritize closed acceptance.

As long as the situation doesn't call for anything extreme, you
should be comfortable with this choice in most cases. Even if it's
all-last, and you just need to win with any hand to be first, the
correct answer is still .

But if you desperately need a big win, keeping for dora
acceptance might be okay. In any other situation, this is bad
since the slim chance of a large increase in points doesn’t make
up for the vast decrease in your chances at a good wait and yaku
like pinfu. Keeping |§3| here simply has too many drawbacks, so
this move should be reserved for situations where you'd need at
least a haneman to avoid last place.

Considering all of these factors correctly in real time is hard, to
say the least. As long as you remember the principle, “when in
doubt, cut the aryanmen,” you won't make any huge mistakes
when faced with a hand like this in a real game.

Agari-top (jp: agaritoppu): A special case in all-last where any hand
you win will give you first place overall. In this situation, your priority
is to win at all costs, no matter how cheap your hand.

\/
e
One-sided wait: If you call with tanyao as your only yaku, what would
normally be a ryanmen |g3|-&| wait ends up as a one-sided [g2| wait.
yoeen e " ded [ wa Point

Avoid blunders by remembering: “when in doubt, cut the aryanmen.”
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VN . Cutting Inward
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This hand has three heads, quite a few weak shapes, and only
one complete meld. Undoing a pair by cutting , , oryields
the most acceptance, at 24 tiles 7 kinds. Fixing a pair by cutting
, , or | Instead yields 22 tiles in 7 kinds.

As for yaku, we could go for pinfu, 2-3-4 sanshoku, or tanyao.
Sanshoku is possible as long as we draw |g] or . Cutting
doesn’t seem bad since its only backfire is . This is the kind of
hand that could even stump seasoned players.

There are a plethora of things we could take into account in this
problem, but actually, we don’t have to think too hard about
this one. It comes down to the principle of “cutting inward”.

Much like I've detailed in the previous lesson When in Doubt,
Fix the Ryanmen, when faced with a difficult hand, you can
think about cutting inward (that is, cutting the outer-most
numbered tiles), to develop your hand for tanyao. It's a simple
technique, but you can apply it to many cases.

For Problem A, cutting inward with won't lose you an
enormous amount of acceptance, nor is there much backfire.
Upgrading to a callable hand is very helpful, and once you secure
tanyao, [ . contributes to acceptance you otherwise wouldn't
have if you cut it instead. If you draw l or . for sanshoku,
you'll have six blocks, so you could then drop [s3|55|
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The technique also applies to this problem. Instead of fixing the
souzu into a meld and a head, you could also cut inward with .

Cutting |&| loses us four tiles of acceptance compared to || or
, but because |g] only accepts the backfire , it won't impact
our speed very much. Then, of course, there's the added benefit
of increasing our chances of tanyao.

With this choice, any of [&] or |&]| turns our manzu into a head
and upgrades the hand to perfect 1-shanten, and any of | ~
turns our souzu into two melds.

Cutting inward is a solid technique, but it can sometimes
make your hand bulky, making it harder to play defensively.
Always pay attention to your opponent’s discards when playing
this way.

Bulky (jp: bukubuku): When you cut safe tiles to maximize
acceptance, your hand is “bulky”. This is the opposite of “going slim”.

QA

Point

When in doubt, develop your hand for tanyao and cut inward.

Avoid cutting inward when you need to play defensively.
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Lesson Making Your Own WWYDs

Solving lots of WWYDs doesn’t count for much if you're just
memorizing the answers. The benefits of WWYDs come from
applying their concepts during actual games.

In my opinion, one of the best ways to get stronger at mahjong
is to make your own WWYDs. When you share your problems
with other players, you'll have to explain the correct answer
and why it's the best choice, which forces you to acquire more
knowledge in tile efficiency. You can choose to build problems
from the ground up or modify existing problems to your liking.

R H H EWEEE
g |8 |3 8|E0k B0l

Here we have an eight-tile wing. The correct answer is to cut @
and fix the dora pair. Think of the pinzu as two nakabukures.

Let's build a new WWYD using Problem A as a base.

The most straightforward modification we can make is to change
the dora. Just by doing this, the correct answer also changes.
For example, if we change dora from | |to , the correct answer

switches to .

Changing dora to tiles that we might end up cutting leads to
some interesting scenarios too. Think about what you would cut

if dora were |@] or .



You should also try shifting the shapes to other positions too.

The souzu in Problem A can easily be split into two blocks, so
let's connect them into one big shape.
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If we shift [sii[kdliii toward | 1| § |} the new shape could become a

three-sided wait, so now, there’s more of a reason to preserve it.
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But if we shift ||} toward [kl instead, we're less com-
pelled to preserve the shape. If left as a wait, the shape can only
become a ryanmen, and we're already using one tile of | in
the — wait. Also, these tiles are relatively harder to win off of
because they're inner tiles.

The point of this exercise is to think about what changes to
the problem would make you change your answer. It helps you
engage deeper with the problem, and ups your judgments’
accuracy and your confidence in them.

kil

Point

WWYDs aren't helpful if you're just memorizing the answers.
Making your own WWYDs forces yourself to think deeply about tile efficiency.

You can make new WWYDs by simply changing dora or shifting shapes in the hand.
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Chapter 7

Calling Efficiency

Calling judgment is one of the most controversial topics in
mahjong. There are so many factors that go into this that
some authors have written entire books exclusively about it.
This chapter will introduce some fundamental calling
principles based on tile efficiency theory.




80

184

masmdd Chili is 2x, and Pon 4x As Fast

You can chii tiles from one opponent, your left player. Because
of this, we can think of our left player’s discards as an extension
of our own draws that approximately double our access to tiles.

On the other hand, you can pon tiles from any of your three
opponents. With the same logic, pon expands your access to
tiles by four times. Thus, chii makes your hand two times faster,
and pon makes your hand four times faster than a closed hand.

If there's no difference in tile acceptance between any of our
choices, we should go with the one that makes it easier to call.
Sometimes, it's even better to go with a discard that yields less
acceptance depending on the tiles available for us to call.

If it's all-last and you only need to win a cheap hand, what would
you cut from the problems below?

[Agari-top]
wlE[x[ N[ o|e]|e|e [ec|es|iit] | &
ild|d|d|a|e|e|e| %o oo/ttt it
[Agari-top]
wlaEI NN o0 |6 (e6ee| i (iad i
ZlElElEx|d|le|e|e| %leslosit: b4

The correct answer for Problem A is just the one that yields the
most acceptance, . Pretty straightforward, right?



For Problem B, however, the correct answer is not .

The tile acceptances for our choices in Problem B are as follows:

38 (@ |[e |[ee||ee|(5s]| Bk . .
Cut rl | El @ %llescs i gg% 7 kinds, 20 tiles
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6 kinds, 17 tiles

Since we don't care about points, we should choose whatever
makes it easiest for us to call. Cutting |p4 yields the most accep-
tance but makes it so that the remaining joint can only accept
when we want to call into open tanyao. Some players don't mind
the one-sided wait, but it's best to avoid this scenario whenever
possible.

Cutting |ee| lOSES US three tiles of acceptance compared to , but
it leads to a hand that's much easier to call. We can pon , ,
and ; and chii |¢| and . Of course, we'll end up with either a
three-sided entotsu wait or a shanpon, depending on which tile
we call, but all of these waits guarantee tanyao.

Cutting from Problem A yields both the best open and closed
acceptance.

Cutting pg| from Problem B yields the best closed acceptance,
and cutting [se| yields the best open acceptance.

W\

Point

Chii makes hands 2x faster than closed hands, and pon makes them 4x as fast.

If you don't need to worry about points, cut whatever makes it easiest to call.

.3 . |®@®
Answers A- B-
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masrl Some Shapes Are Better If You're Calling
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With three dora, this hand is a guaranteed mangan, so we want
to call whatever we can to win as fast as possible.
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Cutting || yields the most acceptance, but it's better to keep it
since the nakabukure will likely make a ryanmen wait.

That leaves us with two options: |g§| or . Let's consider the waits
we can make with these tiles. |g§| overlaps with a meld, which
means that sticking a tile to it only results in a seven-tile wait
at most. Drawing |¢e| for a kanchan wait on |gs] is especially bad
since there are only three tiles of that kind remaining. In con-
trast, |3 leads to an eight-tile wait if you can make a ryanmen
and a four-tile wait if you make a kanchan. However, all of these
arguments apply to closed hands, and right now, we're looking
to call.
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If we keep g we can chii @ for a ryanmen wait. We can also pon
the dora [ for an aryanmen wait or chii [ee| fOr a shanpon wait
on |%|and @ So even though those waits aren’t the best, there
are several tiles we can call to get to tenpai.

Cut |3 to maximize the tiles we can chii for tenpai.



For hands where calling isn't possible, the difference between
these two choices is not as great.
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I've stressed in past lessons that aryanmens are weak shapes,
but they're actually a bit stronger in open hands.

The main idea of this lesson is that some complex shapes are
better in open hands. You should cut differently depending on
whether you want to keep your hand closed or open it.

The following shapes also vary in strength in closed and open
hands.

» B|E|£|£| - [£]is hard to use in closed hands, but in open

hands we can chii || to make a ryanmen joint.

b %] %|esjes| - We can pon and chii tiles into adjacent pairs, so
they're much stronger in open hands.

» bajieliIkali| - For penkanchans, not only can we chii i1, but
also Y so they're easier to complete in open hands.

» E|EIEIE|Z]E]|Z] - In closed hands, we'd typically cut || from

this shape, it can help to keep it intact in open hands.

Point

Keep in mind that some weak shapes are better if you're calling.
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;12% -Uley) Calling Efficiency (Strong Shapes, Three Heads)

X[ e e [ee]es]ee HilHE
®|®

@@
oe|oo| 28 |151|551|E

&
v}?
—f

We have four choices: , , , and . Cutting |&| or [t fixes a

head, and cutting || or | fixes a ryanmen.
Let's compare the tile acceptances between cutting |%|and .

Cut[F (fixing a head) - (5 kinds, 14 tiles)
Cut |g| (fixing a ryanmen) - (6 kinds, 20 tiles)
Cutting || and wins out in terms of acceptance, with six more tiles

over cutting . But we're only considering our own draws here. So
let's take calling into account in our comparison as well.

Cut E (fixing a head)

W Tota
Draw 2 2 4 y) 4 14
Chii 4 4 8
Pon 6 6 6 18
Total 0 8 0 8 8 8 8 40

Cut E (fixing a ryanmen)

o M Total
Draw 4 o 2 e 2 4 20
Chii 4 4 4 4 16
Pon 6 6 117
Total 8 0 8 8 8 8 8 48

These tables assume that all tiles are evenly as likely to be discarded by opponents.
Pon is weighted as three times likelier than normal draws.



Note that the tables above assume that all tiles kinds are equally
as likely to be discarded by your opponents. Since pon can be
called on all three of your opponent’s discards, I've weighted it
to three times the number of our own draws.

The acceptance for cutting |%| now comes to 40 tiles, and for
it is now 48 tiles. Fixing the ryanmen with ] still wins out.

Of the four options I mentioned initially, two of them ( and
) fix a ryanmen. Since |g] is an outer tile and easier to pon, we
should preferably keep it and cut g instead. For actual games,
get into the habit of considering your final wait and anticipating
tiles you'll most likely be able to call.

In these situations, you should almost always fix a ryanmen,
even if you think there aren’t many tiles that can complete your
shapes in the wall. This is because ryanmens are the strongest
waits (aside from compound waits), so you want to maximize
the chance of getting one. If you fix a pair instead, you will need
to complete the shanpon not associated with your ryanmen first
to get a ryanmen wait, which only happens about 40% (16/40)
of the time. Also, remember that fixing a pair gives you less tile
acceptance than if you'd fixed a ryanmen. There just aren't many
scenarios where low tile counts can make up for this.

Notice that when we take calling into account, each kind of tile
accepted counts for eight tiles (see vertical totals in tables).

QA

Point

Almost always fix a ryanmen when your hand has strong shapes and three heads.

In open hands, each kind of tile accepted counts for the equivalent of eight tiles.
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As I mentioned in Three Heads is Worst (1), undoing a pair when
we have three of them yields the most tile acceptance, two tiles
more than if we'd fixed a pair. But what about our acceptance
when we're calling?

Our four options are , , , and . For the sake of simplicity,
let's compare the manzu || and || only. Cutting |£] fixes a head
and cutting || fixes a kanchan.

Cut @ (fixing a head)

gg §E§ Total
Draw 2 2 4 2 10
Chii 4 4
Pon 6 6 6 18
Total 0 8 8 8 8 32

Cut @ (fixing a kanchan)

’E gg g&g Total
Draw 4 2 4 2 12
Chii 4 4 8
Pon 6 6 117
Total 8 0 8 8 8 32




As you can see, if we take calling into account, we end up with
the same amount of acceptance between both options, 32 tiles.

Since there is no difference, we should preserve the three heads
so we can call pon. Pon is stronger than chii because we can pon
tiles from all three of our opponents, giving us more opportu-
nities to get to tenpai. As a plus, pon can also skip opponents’
turns and prevent your own turn from getting skipped.

To fix a head, we can either cut || or . The question, of course,
is, which one to choose? Without any information on discards
in this problem, we can think about possible upgrades instead.
Notice that our only yaku right now is tanyao. If we were to
draw | ] to stick to |fj and make a ryanmen, tanyao wouldn't be
secured. But if we drew |g| (or even better, ) to stick to , we
could keep the ryanmen with no issue.

Our best move, then, is to cut |f and hope for a ryanmen
upgrade while we look to pon to tenpai. Of the three heads that
we've preserved, two of them are relatively easy to call, so we
don’t have to worry too much about upgrading before we get
to tenpai.

Keep in mind that the reasoning I've used in this lesson assumes
that all tile kinds are equally likely to be discarded by opponents
and that there are other potential hand upgrades we haven't
considered. You should pay attention to these two factors in

actual games, as they're quite important.
\

Point

In open hands with weak shapes, fix heads to make it easier to pon to tenpai.

Consider the upgrades between the joints you'll keep before fixing a head.
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Bt Look Out For Open Mangans

In this chapter, we've mostly focused on improving the speed
of our hands by taking advantage of pon and chii. But unless
you are in an agari-top scenario, strictly prioritizing speed is not
always ideal.

Closed hands offer many different ways to increase your hand’s
value by chance once you riichi, such as ippatsu, tsumo, and
uradora. Unfortunately, calling immediately erases your chance
at these han, so the upper limit of your score is usually set once
you make that first call. This is why you must learn to recognize
and act upon appropriate times to make calls.

Some of the most important calls to recognize and make are
those that will lead to a mangan. These hands are powerful,
hard-hitting, and can be worth pushing in many different sce-
narios. On the other hand, you should avoid making calls that
do nothing but lower your hand'’s value.

The mahjong scoring system is designed so that all scores below man-
gan value double when you go up by one han, and halve when you
go down by one han. That means the largest single relative increase
in score occurs between a 30 fu 3 han hand and a 30 fu 4 han hand.
For non-dealers, this is 3900 to 8000 (a 4100 point difference), and for
dealers, this is 5800 to 12000 (a 6200 point difference).
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Cutting the dora |j3| leads to the broadest tile acceptance, at 50
tiles. , , and |gf] are tied for the next most acceptance, 41 tiles.
Note that one tile of | j| is being used as the dora indicator.

I recommend cutting [%| and keeping the dora |yy| here, even with
the nine-tile loss in acceptance. If we cut , we'll only have a
3900 point hand once we call unless we somehow get |&| into
our hand. However, using |jj means that we'll be able to ensure
a mangan even if we call, so we'll be making up for the loss in
acceptance with more points.

The difference between 50 and 41 tiles of acceptance is an 18%
decrease, but we get two times the score. In most cases, that's
more than enough to justify the relative reduction in speed.

By the way, if you're wondering why we cut || and not |ee| OF ,
it's because we can chii % for a wait in the souzu.

I

b

Point

Learn to recognize and act upon calls that will lead to a mangan.

Hands that are mangan when you call are powerful. Sometimes, you can justify a
blow to acceptance once you call if your hand'’s score makes up for it.
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/Lesson Legal Swap-Calling

In the last lesson, I pointed out how the upper limit of a hand's
score is usually set once you open your hand. The exception to
this is when you're playing with red fives. Depending on your
shapes, you might be able to make a legal swap call and chii a
left player’s red dora discard to increase your hand'’s value with-
out losing tenpai.

There are several different types of swap calls, but here, I'll only
be talking about swap calling techniques for runs.

The swap-calling rule (jp: kuikae) forbids a player from calling
an opponent’s discard and then cutting any tile from their hand
that could complete the joint that they called the tile into in the

same turn. So, for example, cutting |g| after calling [2g] %lee| is NOt
allowed.

I've prepared five example problems which need one pinzu
discard to get to tenpai. In order to prepare to swap |&| into our
hand in case our left player discards it, which tile should we cut?

Prob. A
iz SRR e

Prob. B
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To make a legal swap call and cut || after calling , we need to
ensure that:

1. We don't call into [2:8]%|ee| (instead, call into [Z2]ee|ts| OF [Z52]22 8],
2. After calling , we can cut the suji |e| (i.e., preserve the suji),
3. After calling, we still have [%Jse%] (i.e., only keep one [3).

Starting from Problem A, the correct answers are to cut , ,

, , and .

If you have in your hand and chii |3 into , cutting @

in the same turn is not allowed. The reasoning behind this is that

players shouldn't be allowed to slide a completed meld to another |
completed meld off a call, as this doesn't accomplish anything. But in )
other versions of mahjong, this rule is sometimes not applied.

Point

Prepare your hand to make legal swap calls in case your left player discards red fives.
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Chapter &

Problem Index

Here you will find all of the example problems
I've provided in this book.
Use them to hone your mahjong skills!
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How to Use the Problem Index

All labels include the lesson number and specify the problem in the lesson.
Example: Lesson 03, Problem B -> Q03_B

Most problems follow the format of typical WWYDs, but some Chapter 5
problems test wait recognition.
Except for a few problems, most do not provide the turn number. Assume
that all of your other opponents have normal discards and that nobody is
at or close to tenpai.
If you'd like to have a turn number for these problems anyway, imagine
that you are the west player, at turn seven for 1-shanten hands, and turn
four at 2-shanten hands.
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Q 69_A Find this hand'’s waits.
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Check out my other WWYD books!

o KR W
Want to test your newly acquired tile efficiency ﬁftrﬁﬂ'jéJ EErﬁ-gtjéj
knowledge on some more of my problems? OQD

Check out my other books in the Nani Kiru?
series! Try your mahjong sense on advanced
problems in Mahjong Kessaku Nanikiru
300sen, or brush up on fundamentals with
Mahjong Joseki Nanikiru 307sen. Both just
1200 yen + tax. Up your mahjong skills today!
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About the Term
“Tile Efficiency’...

uoIsnPuo))

Mahjong terminology changes with time, and the words don’t
always mean exactly what they used to. “Tile efficiency” is one
of those terms.

Broadly speaking, tile efficiency refers to the ability of a player
to build their hand in an efficient manner, and you’d be hard-
pressed to find a solid definition any more detailed than this.
The question is, does tile efficiency mean cutting whatever leads
to the most tile acceptance?

Instead of trying to scrutinize the origin of this term, let’s take a
different approach and look at the meaning of the words them-
selves. The word “efficiency” as defined by Merriam Webster
is as follows:

1. the ratio of the energy delivered by a dynamic system to the
energy consumed.

// efficient machinery, thermal efficiency

2. effective operation as measured by a comparison of produc-
tion with cost (as in energy, time, and money)

// an efficient investment

The first image that pops up in your mind when you see this
definition is probably something like a car’s fuel consumption,
right? Pretty far off from tile acceptance. In mahjong, the choice
that yields the most tile acceptance is not necessarily the one
that will bring you to tenpai or get you to win the fastest. My
point is, we didn’t always know that.

The way we use words changes with time. Now, I'm not trying



to declare that you're all using the term “tile efficiency” wrong
and that you should change your ways. But the way I see it,
tile efficiency does not simply mean the choice that leads to the
most tile acceptance.

Tile efficiency often gets lumped in together with “tile theory”
(jp: pairi), but the origin of this term is well-known. For those
that are curious, search up “combinatorial theory in mahjong”
(p: hai no suurikinou).

G Uzaku, March 2019

All problems in this book were written by G Uzaku. Quality control was conduct-
ed by Nemata, Yuuse, and JangoroK.

The book you're reading could not have been made possible without the help of
all these other people, who I will now have the pleasure of introducing. I extend
a deep, sincere "thank you" to all who have been involved.

Nemata: Practicing monk. Dropped out of the Graduate School of Humanities
and Sociology and Faculty of Letters at the University of Tokyo. Writes for a col-
umn at the Mahjong Watch website. Author of several mahjong books, including
Riichi Mahjong Strategy.

Yuuse: Cram school instructor and mahjong parlor employee. Charisma King of
the Tenhou community. Author of Jissen de Yoku Deru! Yomu dake de Kateru
Mahjong Kougi.

JangoroK: Owner of Mahjong Bucks. Author of several mahjong books, including
Chou Jissen Mahjong Nani Kiru and Nani Naku Drill.

Mahjong Bucks: yutorisuzume, norichan, ideccho, nakagawakun, eesan, and
gennokun

Toutenkou at Meitetsu Chiryuu Station: the staff

“Uzaku’s Guide to Mahjong” is an educational mahjong resource developed by
G Uzaku.
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